QUALITY ASSURANCE

POWER PEAK —
FECO TECHNOLOGY

DRIVE
IN THE FUTURE

FECO TECHNOLOGY
A - DRIVE IN THE FUTURE

F - - S g

—_— .:* +

53@ %Jx

et

ITEIRGE

PLANETARY REDUCER _I_




Rz F 17 AL 5E El

Application Industry

1 iINZS

Machine tools

ENRliR e

Printing machines

9

AR

Packing machines

HE
industrial robots

7

LA,

Textile machines

Rz F 17 AL 5E E

Application Industry

ElZ5a=Fid
Non-standard automation

4 EreE
Medical equipment

S

SEHIE
Automotive industry

o

SEINT
Metal processing

RS

Measuring equipment

BEER
Satellite Communication

11 FEG Tl
Pharmaceutical industry




F=Cc=
=== Bundesrepublik Deutschland

Urkunde

uber die Eintragung der
Marke Nr. 30 2017 109 204

Az.: 302017 109 204.4 / 07

Inhaber/Inhaberin

Tag der Anmeldung:
12.09.2017

Tag der Eintragung:
19.10.2017

Die Prasidentin des Deutschen Patent- und Markenamtes

'—ﬁa&um_f&ekq

Rudloff-Schaffer

Minchen, 19.10.2017

Den aktuellen Rechtsstand und Schutzumfang nach dem Verzeichnis der Waren und Dienstieistungen
entnehmen Sie bitte dem DPMAregister unter www.dpma.de.

P01-06

P13-18

P25-30

P37-42

P49-54

P61-66

P73-78

SONTENTS

KAB

KAE

KVB

KSP

KTP

KTS

KTN

PO7/-12

P19-24

P31-36

P43-48

P55-60

P67-72

P79-84

KABR

KAER

KVBR

KSPR

KTPR

KTSR

KTNR




a4 Product Profile

KABZR5

(KAB Series)

® KAB-L1 ® KAB-L2

® KAB-L1-B ® KAB-L2-B

FIENEEESEHE | gear box preformance information

ey T——
3

e AIE(norminal output torque)T2N

@iFHBE(emergency torque)Taor
RS NEE (norminal input speed)ns
BAE ISR (maximum input speed)nie

EHESISRERP1 low backlash

[ElfEiRfEREP2 standard backlash

asMiE torsional stiffness
Bk EmH(Maximum radial force)Farmax
kb (Maxmum axial force)Fzamax

T efficiency

I{e% life time

HiRRE operating temperature
JERB lubrication

RS SE IP degree

F%% 18 mounting position

¥ noise level

iEapiEm(Moment of Inertia)J1

Nm

arcmin

Nm/arcmin
N
N

%

dB

L1

L2

LTz
L1tz
Li*L2
L1
L2
L1
L2
L2
L1tz
Li2
L1
L2
L2
L2
Lz
L1tz
L2
L2

L1

L2

3~100
3~100
3~100
3~10
12~100
3~10
12~-100

3~100
3-100
3~10
12~100
3~100
3~100
3~100
3~100
3-100
3~100

© N O o =

15
20
25
30
35
40
50
70
80

19 50 130 130 208 208 342

20
21
16
19
13
12
15
18
20
19
18
17
18
18
16
10
10

4000

=63
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

50
60
48
50
45
40
40
55
50
60
55
50
45
60
50
43
40

5000
10000
=3
=5
=5
=8

1200
1050
=97
=94

=60
0.16
0.14
0.13
0.13
0.13
0.13
0.13
0.13
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

140
160
120
140
130

110
100

4000
8000
=3
<5
=5
=8
14
2450
2200
=97
=04

061
0.48
0.47
0.45
0.45
0.44
0.44
0.44
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13

140 290 290
160 330 330
120 240 240
140 300 300
130 230 230
100 220 220
100 230 230
130 208 208
140 280 290
160 330 330
150 310 310
140 300 300
120 230 230
160 330 330
140 300 300
110 230 230
100 230 230

4000 4000 4000
8000 8000 8000

=3 =3 =3
<5 <5 =5
=5 =5 =5
=8 =8 =8
14 25 25
2450 4000 4000
2200 4000 4000
=97 =97 =97
=04 =94 =94
220000 (hour)
-10T~ +90C
ST Lifetime lubrication
P65
@R All position
=64 =67 =67
061 326 3.25
0.48 274 274
0.47 27 2n
0.45 265 2.65
0.45 262 262
0.44 258 258
0.44 257 2.57
0.44 257 2.57
0.13 0.47 047
0.13 0.47 0.47
0.13 0.47 0.47
0.13 0.47 0.47
0.13 0.47 0.47
0.13 0.47 0.47
0.13 0.47 0.47
0.13 0.44 0.44
0.13 0.44 0.44
0.13 0.44 0.44

542
650
410
550
450
410
450
342
542
650
600
550
500
650
550
410
450

2. 5EMREM G ALE 2.5 times of norminal output torque

3000
6000
=3
<5
=5
=8
50
9000
8300
=97

=72
a1
7.54
7.42
7.25
7.25
7.07
7.04
7.14
7.03
2Mm
27
2
27
2Mm
2n
2.57
257
257

1020
1280
1250
980
1030
880
880
950
1050
1200
1200
1050
1020
1100
1000
1000
960
950

2000
4500
=3
<5
=7
=9
140
14500
7200

=94

28.98
23.67
23.29
2275
22.48
22,59
22.53
2251
742
7.42
7.42
7.42
7.42
7.42
7.42
7.03
7.03
7.03

1650
2160
2100
1350
1580
1260
1450
1530
1650
2050
2000
1600
1500
1350
1300
1200

1100

69.61
54.37
53.27
51.72
50.97
50.84
50.63
50.56
2329
23.29
23.29
23.29
2329
23.29
23.29
2251
2251
2251

02/



SMEZRTEZ / out line dimension sheet SMIzR<TE % / out line dimension sheet

KAB-L1 KAB-L2

11 8 4 .
. ) I L8 i N : g T u , _ Q .
B T b5 1 - S L -
< \\> N : ol TR v
< 13 Lol
' 1]
§ 5 < T o -
L—4 777&?‘ g g} T2"1T1T "1 711 __-:'_' I =2 l(i
' |
4 L] ’_
01 \¢0?
=
§ 1
KABO42 KABOGO KAB09O KAB115 KAB140 KAB180 KAB220 KABO42 KABOGO KAB0SO KAB115 KAB140 KAB180 KAB220
ElN 50 70 100 130 165 215 250 BN 50 70 100 120 165 215 250
34 55 65 9 1 13 17 34 55 65 9 11 13 17
13 16 2 a2 40 55 75 13 16 2 32 40 55 75
35 50 80 110 130 160 180 35 50 80 110 130 160 180
M4*8 M5*12 M8*16 M12*24 M16*32 M20*40 M20*40 M4*8 M5*12 M8*16 M12*24 M16*32 M20*40 M20*40
42 60 %0 116 140 180 220 42 60 9% 115 140 180 220
3 3 3 5 5 6 7 3 3 3 5 ] 6 b
14 20 30 40 65 70 ) 14 20 30 40 65 70 %
195 285 355 51 82 82 105 195 285 355 51 8 82 105
55 7 10 12 135 20 30 55 7 10 12 135 20 30
2% 37 48 65 985 105 138 2 a7 48 65 98.5 105 138
L7 4 8 10 10 12 15 20 4 8 10 10 12 15 20
515 68 885 114 1465 164 200 82 88 1165 151 200 220 249
4 70 % 145 200 200 215 4 70 % 145 200 200 215
M4*8 Ma* M5*10 M8*16 M12+24 M12+24 M12+24 M4*s M4*8 M5*10 M8*16 M12+24 M12+24 M12+24
c3 % 60 % 130 180 180 200 c3 ) 60 % 180 180 180 200
8 14 19 24 35 35 42 8 14 19 2 35 35 2
a0 50 70 110 1143 1143 180 30 50 70 110 1143 1143 180
cs 5 6 6 6 8 7 8 cé 5 6 6 6 8 7 8
275 32,5 47 62.5 815 85 109 Cc7 275 325 47 62.5 81.5 85 109
915 113 146.5 189 257 284 358 112 133 1745 226 3105 340 407
EN 5 5 6 10 12 16 20 En 5 5 6 10 12 16 20
15 18 245 355 4 59 795 15 18 245 355 4 59 795

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

03/ F=EL= [ o

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

04/




SMEZRTEZ / out line dimension sheet SMIZR B / out line dimension sheet

KAB-L1-B KAB-L2-B

1 03 - 11 - e 3 -
(8 (8
6 17 ) o s 6 0l
16 sl 1] .
3 L8 MVANE
L I ||
I
1‘ - T
3y (= i 949 =l
| | '
‘
L ! —
81
-
8
KAB090B KAB1158 KAB1408 KAB090B KAB1158 KAB1408
ElN 100 130 165 El 100 130 166
65 9 11 65 9 1
22 32 40 22 32 40
80 110 130 80 110 130
M8*16 M12+24 M16°32 M8*16 M12+24 M16°32
% 15 140 % 15 140
3 5 5 3 5 5
30 40 65 30 40 65
355 51 82 355 51 82
10 12 135 10 12 135
48 65 985 48 65 98.5
10 10 12 10 10 12
80.5 101 139 1085 138 1925
70 % 145 70 9% 145
M4*8 Me*12 Mg*16 M4*8 Me*12 Ma*16
80 80 130 80 80 130
14 19 24 14 19 24
50 70 110 50 70 110
co 6 6 11 c6 6 6 1
39 495 7 39 495 7
1385 176 2495 1665 213 303
En 6 10 12 BN 6 10 12
25 355 43 245 355 4

P RUENL DT LUAE FESIA/NIRE. Note 1: The reducer output shaft size and length can be customized for customers.
2 AR THIRE RRE R DA H DA LIBRTEDR. Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

ERGEN S D HET LU E P ERIAMIKE. Note 1: The reducer output shaft size and length can be customized for customers.
F2MART IR S R ER DA 1 DA LIBMREDD . Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

05/ FELCS F 06/




07/

Faafté8 Product Profile

® KABR-L1
®© KABR-L1-B

® KABR-L2
®© KABR-L2-B

FIENEEESEHE | gear box preformance information

e AIE(norminal output torque)T2N

®EmB(emergency torque)Tanor
WE S % (norminal input speed)ns
BAE ISR (maximum input speed)nie

B EREiEEP2 standard backlash

1B¥RAIE torsional stiffness
B EmH(Maximum radial force)F amax
AR (Maxmum axial force)Fzausx

TFaE efficiency

I{FEdp life time

FiRiBME operating temperature
J@RB lubrication

RS IP degree

#4758 mounting position

I noise level

H#ihiRM(Moment of Inertia)J1

Nm

Nm/arcmin
N
N

%

dB

L2

LTz

L1tz

Li*L2
L1

L2
L2
L1z
L1
L2
L2
L2
L2
Lz
L2
L1tz

L1

L2

13
16
16
1
15
11
9

12
13
15
15
13
13
15
15
13
1
10

=10

780
330
=93

=65
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09

36 90 90 195 195 550

48
60
45
50
45
40
40
36
48
60
55
50
45
60
50
40
40

5000
10000
=7
=10

1200
1050
=95
=92

=64
0.35
0.35
0.35
0.35
0.35
0.35
0.35
0.35
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09

4000
8000
=7
=10
14
2450
2200
295
=02

=67
225
225
225
225
2.25
225
225
225
0.35
0.35
0.35
0.35
0.35
0.35
0.35
0.35
0.35
0.35

120 260 260
150 325 325
130 250 250
140 300 300
110 260 260
100 230 230
100 230 230
90 300 300
110 230 230
150 325 325
150 310 310
140 300 300
100 260 260
160 230 230
140 300 300
100 260 260
100 230 230

4000 4000 4000
8000 8000 8000

=7 =7 =7
=10 =10 =10
14 25 25
2450 4000 4000
2200 4000 4000
296 295 295
=92 =92 =92
=20000 /N (hour)
-10CT~ +80T
H#£5/@i8 Lifetime lubrication
IP65
(X758 All position

=67 =70 =70
225 6.84 6.84
2.256 6.84 6.84
2.25 6.84 6.84
225 6.84 6.84
225 6.84 6.84
2.25 6.84 6.84
225 6.84 6.84
2.25 6.84 6.84
0.35 225 225
0.36 225 2.25
035 225 225
0.35 225 225
035 225 225
0.35 225 225
0.35 225 22
0.35 225 225
0.36 225 225
0.35 225 225

600
590
450
540
460
450
520
530
530
590
550
540
500
580
520
500
450

2. 5EMREM G ALE 2.5 times of norminal output torque

2500
4500
=8
=10
56
9400
4700
293
=90

=70
234
234
234
234
234
234
234
234
6.84
6.84
6.84
6.84
6.84
6.84
6.84
6.84
6.84
6.84

1100
1250
1200
950

1050
960

900

1000
1100
1150
1200
1100
1100
1000
1200
1100

900

2000
4500
=8
=10
140
14500
7200
293
=90

=72
689
68.9
68.9
68.9
68.9
68.9
68.9
68.9
234
234
234
234
234
234
234
234
234
234

1860
1950
1900
1600
1760
1650
1500
1120
1800
1800
1800
1830
1800
1600
1670
1600
1500
1500

2000
4000
=8
=10
220
50000
28000
=93
=90

135.4
1354
1354
1354
1354
1354
135.4
1354
68.9
68.9
68.9
68.9
68.9
68.9
68.9
68.9
68.9
68.9

08/



SMEZRTEZ / out line dimension sheet

b 1 |8
4 15
4213 1
2 g =+ t+——1——F4——— -
=
i |
\ g
; = i 1 J} I
Lol
o8 |
Bl v KABROBO KABROSO KABR115 KABR140 KABR180 KABR220
El 50 70 100 130 165 215 250
EN 34 55 65 9 1 13 17
- 13 16 22 32 40 56 75
35 50 80 110 130 160 180
M4*8 M5*12 M8*16 M12+24 M16*32 M20*40 M20*40
42 60 9 115 142 180 220
EN 3 3 3 5 5 6 7
EN 14 20 30 40 65 70 90
BN 195 285 355 51 79 82 105
- 55 il 10 10 15 20 30
En 2% a7 48 65 o7 105 138
EN 4 8 10 10 12 15 20
EN 7 715 97.5 1325 146 184 218
El 122 1465 2005 265 352 394 484
- 46 70 90 145 200 200 235
El Mz'6 a8 M5*10 Mg*16 M1224 M12:24 M12°24
EN 42 60 90 130 142 180 220
EN 8 14 19 24 35 38 55
EN 30 50 70 110 1143 180 215
EN 35 6 6 14 14 15 7
- 30 325 43.5 67 81 85 85
EN 69.5 68 o7 126 166 2135 268.5
- 95.5 98 142 183.5 230 303.5 3785
EN 5 5 6 10 12 16 20
Bl 15 18 245 355 43 59 795

N RE H R LU E P ERIK MR,

H2WARTKIES R EIR DA # DIATLIAMED.

09/ FELS

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

v)
16 17 8
[CEL
3
B |
|
|
o g’ -+ttt
|
| =
| [ N
——
[ ]| A
. =t |
oL
SR E—
Bl <o KABROSO KABR090 KABR115 KABR140 KABR180 KABR220
EN 50 70 100 130 165 215 250
EN 34 55 65 9 11 13 17
- 13 16 22 32 40 56 75
35 50 80 110 130 160 180
M4*8 M5*12 M8*16 M12%24 M16*32 M20*40 M20*40
42 60 90 115 142 180 220
EN 3 3 3 5 5 6 7
EN 14 20 30 40 65 70 90
BN 195 285 355 51 79 82 105
- 5.5 7 10 10 15 20 30
En 2 a7 48 65 o7 105 138
EN 4 8 10 10 12 15 20
EN 88 915 1255 169.5 173 217 253
En 139 166.5 2285 302 378 427 521
- 46 70 90 145 200 200 235
EN M3'6 M4'8 M5*10 M8*16 M12+24 M12:24 M12+24
EN 42 60 % 130 142 180 220
EN 8 14 19 2 35 38 55
EN 30 50 70 110 1143 180 215
EN 35 6 6 14 14 15 7
- 30 325 435 67 81 85 85
EN 69.5 68 a7 126 165 2135 2685
- 95.5 98 142 183.5 230 303.5 3785
EN 5 5 6 10 12 16 20
ENn 15 18 245 355 43 59 795

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,

Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

10/



SMEZRTEZ / out line dimension sheet

(0

KABROS0B
100
6.5
22
80
Ma*16

355
10
48
10

80.5

168.5

245

KABR115B
130
9
32
110
M12+24
115
5
40
51
10
65
10
115
235
%
M5*10

355

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

11

S—

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

HERIELE DT LU E PER ARG,

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

—
| rT T =
o0t 902 1 =
” e S
BLL
§ N | @5 |
Bl «sros KABR1158
El 100 130
EN 65 9
N - .
EN 80 110
EN MB8*16 M12+24
Bl 90 15
[ 2 | 3 5
El - w0
Bl 355 51
E 10 10
. - -
EN 10 10
El 1085 152
El 196.5 272
El 70 9%
EN M8 M5*10
[ | 60 %
EN 14 19
EE - 0
[ | 6 6
EN 31 435
[ | 8 o7
EN 98 142
BN 13 159.5
ElN 245 355

12/



P aafté8 Product Profile

KAE#&?!

(KAE Series)

® KAE-L1
® KAE-L1-B

® KAE-L2
® KAE-L2-B

13/ F

FIENEEESEHE | gear box preformance information

WS HEIE(norminal output torque)T2N

RPHE(emergency torque)Taor
SR (norminal input speed)ns
BABAFHE(maximum input speed)nia

ElfESHRiaEP1 low backlash

[ElfgirHEEMP2 standard backlash

1B%4AItE torsional stiffness
B|AEEH(Maximum radial force)Farmax
BAsmH(Maxmum axial force)F zamax

T{es efficiency

Ie5d life time

FIREME operating temperature
JBABR lubrication

B EE IP degree

#3718 mounting position

I®E noise level

##ipt2m(Moment of Inertia)J1

pm

arcmin

Nm/arcmin
N
N

%

dB

5 stage level KAEO50 | KAEOS0 | KAEQ90 | KAEDSOB | KAE120 | KAE120B| KAE150
3 20 50 130 130 208 208 342 588

L1

L2

L1tz

Li2

L2
L1

L1

L1tz

Li*2

L2
L1

L2
L2
L1tz
L2
LTz
L1tz

3~100
3~100
3~100
3~10
12~100
3-10
12~100
3~100
3-100
3~100
3~10
12~100
3~100
3~100
3~100
3-100
3~100
3~100

© ® N @ o &

19
22
20
19
17
14
14

19
22
20
19
17
22
20
19
17

=56
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

50
60
55
50
45
40
40
56
50
60
55
50
45
60
55
50
45
40

5000
10000
=3
=5
=5
=8
7
1200
1050
=97
=94

=60
0.16
0.14
0.13
0.13
0.13
0.13
0.13
0.13
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

140 140 290 290 542
160 160 330 330 650
150 150 310 310 600
140 140 300 300 550
120 120 260 260 500
100 100 230 230 450
100 100 230 230 450
130 130 208 208 342
140 140 290 290 542
160 160 330 330 650
150 150 310 310 600
140 140 300 300 550
120 120 230 230 500
160 160 330 330 650
150 150 310 310 600
140 140 300 300 550
120 120 260 260 500
100 100 230 230 450
2.5{&MmRREHAIE 2.5 times of norminal output torque
4000 4000 4000 4000 3000
8000 8000 8000 8000 6000
=3 <3 <3 =3 =3
=5 =5 =5 =5 =5
=5 =5 =5 =5 =5
=8 =8 =8 =8 =8
14 14 25 25 50
2450 2450 4000 4000 9000
2200 2200 4000 4000 8300
=297 =97 =97 =297 =297
=04 =04 =04 =04 =04
=20000 /\a{(hour)
-10CT~ +80C
H5R Lifetime lubrication
P65
{EI75® All position

=64 =64 =67 =67 <72
0.61 0.61 325 3.25 91
0.48 0.48 274 2.74 7.54
0.47 0.47 27 27 742
0.47 0.47 27 2.mM 7.42
0.45 0.45 262 262 7.25
0.44 0.44 258 258 7.07
0.44 0.44 257 2.57 7.04
0.44 0.44 257 2.57 7.14
0.13 0.13 0.47 0.47 7.03
0.13 0.13 0.47 0.47 71
0.13 0.13 0.47 0.47 21
0.13 0.13 0.47 0.47 27
0.13 0.13 0.47 0.47 27
0.13 0.13 0.47 0.47 a1
0.13 0.13 0.47 0.47 271
0.13 0.13 0.47 0.47 27
0.13 0.13 0.44 0.44 2.57
0.13 0.13 0.44 0.44 257
0.13 0.13 0.44 0.44 2.57

1050
1200
1100
1100
1000

3000
6000
=4
=6
=5
=8
145
12800
7250

=04

=67
28.98
23.67
23.29
2329
22.48
22,59
22.53
2251
742
742
7.42
742
7.42
7.42
7.03
7.03
7.03
7.03

1140
1700
2000
1900
1800
1600
1500
1500
1140
1700
2000
1800
1800
1600

1900
1800
1600
1500

2000
4000
=4
=6
=5
=8
225
27800
18500
=97
=04

14/



SMEZRTEZ / out line dimension sheet

KAE-L1

SMIzR<TEZ / out line dimension sheet

KAE-L2

(8

(8 - - (3 —
15 L6
13 L& 1
12 | Lo
|
|
S =20 HH-g ¢
L 4

KAE050 KAE060 KAE080 KAE120 KAE150 KAE205 KAE235
“ 44 62 80 108 140 184 210
M4*8 M5*10 M6*12 M8*16 M10*20 M12*24 M16*32
12 16 2 32 40 55 75
35 52 68 90 120 160 180
M4*8 M5*12 M8*16 M12:24 M16+32 M20°40 M20%40
2 3 3 5 5 6 7

L2 14 20 30 a0 85 70 %
195 285 355 51 82 82 105
4 6.5 15 17 15 15 18
245 36 48 70 98.5 100 126
86.5 7 8.5 119 1685 184 232
48 70 %0 145 200 200 215
M8 M4'8 M§*10 M8*16 M12°24 M12+24 M1224
48 60 % 130 180 180 200
1 14 19 24 a5 36 42
30 50 70 110 1143 1143 180
35 6 6 6 8 10 15

c7 £ 325 47 625 815 85 100
91 113 1465 189 257 284 358
EN 4 5 6 10 12 16 20
14 18 245 355 43 59 795

N REA H AT LU B P ERIK/ MR,

H2WARTKIES R EIR DA # DIATLIBAMED.

15/ FEL=S

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

B
=
& ]

KAE050 KAE060 KAE090 KAE120 KAE150 KAE205 KAE235
“ 44 62 80 108 140 184 210

D2 M4*8 M5*10 ME*12 M8*16 M10*20 M12*24 M16*32

D3 12 16 22 32 40 86 75
“ 35 52 68 20 120 160 180
M4*8 M5*12 M8*16 M12+24 M16+32 M20%40 M20°40
2 3 3 5 5 6 7
14 20 30 40 85 7 %0
195 285 355 51 82 82 105
4 6.5 15 17 15 15 18
245 36 48 70 985 100 126
935 o7 1265 156 212 240 281
" 70 % 145 200 200 215
M4'8 Ma4'8 M§*10 M8*16 M12+24 M12°24 M12:24
48 60 % 130 180 180 200
1" 14 19 24 a5 35 42
30 50 70 110 1143 1143 180
35 6 6 6 8 10 15
30 325 a7 62.5 815 85 100
118 133 146.5 226 3105 340 a07
4 5 6 10 12 16 20
[ | 14 18 25 355 43 59 795

FERELE DT LU E PESA/NIRE.

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

16/



SMEZRTEZ / out line dimension sheet

KAE-L1-B

(8

#04
o0,

B

Ie

rlelr|r|c|r|lole|ola a
alojnla|lwiv|l=a|l&|lelN '

QOIOIO0|IO0|O
N

Q0

X

0|0
@ |~N|O |0 s |W

N REA H AT LU B P ERIK/ MR,

S KAE090B

80
M6*12
22

M8*16

35.5
11.5
48
90.5
70
M4*8
60
14
50
6
39
1385
6
245

KAE120B

M8*16
32

M12*24

495
176
10
355

KAE1508
140
M10*20
40
120
M16*32
5
65
82
15
98.5
151
145
M8*16
130
24
110
11
74
2495
12
43

H2WARTKIES R EIR DA # DIATLIBAMED.

17/ FEL=

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TEZ / out line dimension sheet

KAE-L2-B

| 2]

B!

12 (1
L
I
i
|
: FH—1 .
o i
s Sl — - T J\T 1 5|
I
|
:
1 |
B
-
$ |
KAE0908 KAE1208 KAE1508
EN - s
M6*12 M8*16 M10*20
EN - o
M8*16 M12+24 M16*32
35 51 82
15 17 15
p o s
1185 143 2045
" "
c2 Ma'8 M6*12 M8*16
80 80 130
5 70 110
6 6 1
39 495 74
1665 213 303
6 10 12
[ | 245 3.5 43

FERELE DT LU E PESA/NIRE.
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

18/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

36 90 90 195 195 550 1100

3 13 1860
4 16 48 120 120 260 260 600 1250 1950
5 15 60 150 150 325 325 590 1200 1900
L 6 11 55 150 150 325 325 450 950 1600
T/ 15 50 140 140 300 300 540 1050 1760
8 1" 45 120 120 260 260 460 960 1550
9 9 40 100 100 230 230 450 900 1500
10 12 40 100 100 230 230 520 1000 1120
@ KA E R - I_ 1 @ KA E R — I_ 2 i 5 (norminal output torque) T2N Nm 15 13 3 ° L 300 30 530 1100 1800
20 15 48 110 110 230 230 530 1150 1800
@ KAER—L1 —B @. KAER—I_Z—B 25 15 60 150 150 325 325 590 1200 1800
30 13 55 150 150 310 310 550 1100 1830
35 13 50 140 140 300 300 540 1100 1800
Le 40 15 45 100 100 260 260 500 1000 1600
50 15 60 160 160 230 230 580 1200 1670
70 13 50 140 140 300 300 520 1100 1600
80 1" 45 120 120 260 260 500 1000 1500
100 10 40 100 100 230 230 450 900 1500
@iFHBE(emergency torque)Taor Nm L2 3~100 2. 5EMEMEEIE 2.5 times of norminal output torque
WE S % (norminal input speed)ns o L1"L2 3~100 3000 5000 4000 4000 4000 4000 2500 2000 2000
BABAER(maximum input speed)nis L12 3~100 6000 10000 8000 8000 8000 8000 4500 4500 4000
L1 3~10 =8 =7 =7 =7 =7 =7 =8 =8 =8
Sistodim P LIS T 2 12-100 <10 <10 <10 <10 <10 <10 <10 <10 <10
1BERIE torsional stiffness Nm/arcmin L2 3~100 3 7 14 14 25 25 56 140 220
B EmH(Maximum radial force)F amax N L2 3-100 780 1200 2450 2450 4000 4000 9400 14500 50000
Exsami(Maxmum axial force)Faamax N L2 3~100 330 1050 2200 2200 4000 4000 4700 7200 28000
L1 3~10 293 295 295 296 295 295 293 203 293
TP efficiency %
L2 12~100 =00 =92 =02 =92 =92 =92 =90 =90 =90
TS life time h L2 3~100 =20000 /N (hour)
FiRiBME operating temperature T Li*L2 3~100 -10T~ +80T
J@RB lubrication L2 3~100 25318 Lifetime lubrication
FHPSE IP degree L2 3~100 IP65
#4758 mounting position Li*L2 3~100 (X758 All position
I#E noise level dB L1z 3~100 =65 =64 =67 =67 =70 =70 =70 =72 =74
3 0.09 0.35 225 225 6.84 6.84 234 689 1354
4 0.09 0.35 225 2.256 6.84 6.84 234 68.9 1354
5 0.09 0.35 225 2.25 6.84 6.84 234 68.9 1354
LY 6 0.09 0.35 225 225 6.84 6.84 234 68.9 1354
T/ 0.09 0.35 225 225 6.84 6.84 234 68.9 1354
8 0.09 0.35 225 2.25 6.84 6.84 234 68.9 1354
128 (Moment of Inertia)J1 Kg.cm? 10 0.09 0.35 225 225 6.84 6.84 234 68.9 135.4
10 0.09 0.35 225 2.25 6.84 6.84 234 68.9 1354
15 0.09 0.09 0.35 0.35 225 225 6.84 23.4 68.9
20 0.09 0.09 0.35 0.36 225 2.25 6.84 234 68.9
25 0.09 0.09 0.35 035 225 225 6.84 234 68.9
30 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
L2 35 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
40 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
50 0.09 0.09 0.35 0.35 225 22 6.84 234 68.9
70 0.09 0.09 0.35 0.35 225 225 6.84 23.4 68.9
80 0.09 0.09 0.35 0.36 225 225 6.84 234 68.9
100 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
19/ FELCS FELCS 20/



SMEZRTEZ / out line dimension sheet

N REA H AT LU B P ERIK/ MR,
H2WARTKIES R EIR DA # DIATLIBAMED.

aly £

12
T
g8 =1+t
\
| || o
Bl [T !
:
| 5
e =
2L
L e
Bl «- KAER060 KAER090 KAER120 KAER150 KAER205 KAER235
EN 4 62 80 108 140 184 210
EN M4*8 M5*10 Me*12 M8*16 M10°20 M12+24 M16+32
EN 12 % 22 32 40 55 75
EN 35 52 68 90 120 160 180
EN M4*8 Ms*12 M&*16 M12+24 M16+32 M20*40 M20°40
El 2 3 3 5 5 6 7
EN 14 20 30 40 65 70 %
[ ] 195 285 355 51 82 82 105
| ] 4 6.5 115 17 16 15 18
EN 245 3 48 70 985 100 126
EN 91.5 1165 1655 207.5 2535 2845 3515
EN 1155 1465 2005 265 3245 3795 4615
- 46 70 90 145 165 215 235
EN Ma'8 Ma8 Ms*10 M8*16 M10%20 M12:24 M12:24
EN 48 60 90 130 142 180 220
EN 1 14 19 24 38 48 55
EN 30 50 70 110 130 180 200
EN 35 6 6 14 6 6 6
En 20 31 435 67 130 180 220
- 74 68 97 126 164.5 2135 268.5
EN 1005 o8 142 1835 2455 316 398.5
El 4 5 6 10 12 16 20
Il 14 18 245 355 43 59 795

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TEZ / out line dimension sheet

FERELE DT LU E PESA/NIRE.

H2MARTIKIES R ER DA LS H DIATLABIED.

L6
| LI
3 141
12
|
|
o |
o B
S g -+ {‘
|
=
[T
b
| || =
— e
]
|04 |
|- 805
Bl v KAER060 KAER090 KAER120 KAER150 KAER205 KAER235
EN 44 62 80 108 140 184 210
EN M8 M5#10 M6*12 M8*16 M10:20 M12+24 M16+32
EN 12 16 22 32 40 55 75
EN 35 52 68 9% 120 160 180
EN M8 Ms#12 MB8*16 M12+24 M16+32 M20%40 M20°40
Bl 2 3 3 5 5 6 7
EN 14 20 30 40 65 70 20
BN 195 285 355 51 82 82 105
BN 4 65 1.5 17 15 15 18
EN 245 3 48 70 985 100 126
En 1185 136.5 1835 2445 287 327.5 396.5
| ] 14255 166.5 2285 302 358 4225 506.5
- 46 70 90 145 165 216 235
En Ma'8 M8 M5*10 M8*16 M10*20 M12:24 M12+24
EN 48 60 90 130 142 190 220
EN 1 14 19 2 38 48 55
EN 30 50 70 110 130 180 200
EN 35 6 6 14 6 6 6
En 30 31 435 67 130 180 220
EN 74 68 o7 126 1645 2135 2685
EN 1005 98 142 1835 2455 316 3085
EN 4 5 6 10 12 16 20
El 14 18 245 355 4 59 795

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

y S vl



SMEZRTEZ / out line dimension sheet

L6

0

(5

SMIzR<TEZ / out line dimension sheet

KAER090B
80
M6*12
22
68
M8*16

30
355
11.5

138.5
168.5

113
6
245

N REA H AT LU B P ERIK/ MR,
H2WARTKIES R EIR DA # DIATLIBAMED.

£y =

KAER120B
108
M8*16
32
90
M12+24

159.5
10
355

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

- —— =Y
-t
| [
|
=
I
oL5

a

KAER080B

M6*12

M8*16

30
355
11.5

166.5
196.5

113
6
245

FERELE DT LU E PESA/NIRE.
H2MARTIKIES R ER DA LS H DIATLABIED.

KAER120B

108
M8*16
32
90
M12%24
5
40
51
17
70
227
22
90
M5*10
20
19
70
6
435
97
142
150.5
10
355

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

y = Zy



Faité8 Product Profile FABHIEEEHE | gear box preformance information

50 130 130 208 208 342 588 588

KVBE5!
' \ 50 140 140 290 290 542 1050 1050 1700
60 160 160 330 330 650 1200 1200 2000
" 55 150 150 310 310 600 1100 1100 1900
(KVB Se rleS) 50 140 140 300 300 550 1100 1100 1800
45 120 120 260 260 500 1000 1000 1600
40 100 100 230 230 450 900 900 1500
10 14 40 100 100 230 230 450 900 900 1500
@ KVB_L‘I @ KVB_L2 R (norminal oulput torgue) T2N ro- 15 20 55 130 130 208 208 342 588 588 1140
20 19 50 140 140 290 290 542 1050 1050 1700
@ KVB—L1 —B @I KVB—LZ—B 25 22 60 160 160 330 330 650 1200 1200 2000
30 20 55 150 150 310 310 600 1100 1100 1900
35 19 50 140 140 300 300 550 1100 1100 1800
= 40 17 45 120 120 230 230 500 1000 1000 1600
50 14 60 160 160 330 330 650 1200 1200 2000
60 20 56 150 150 310 310 600 1100 1100 1900
70 22 50 140 140 300 300 550 1100 1100 1800
80 17 45 120 120 260 260 500 1000 1000 1600
100 14 40 100 100 230 230 450 900 900 1500
BPMIE(emergency torque)Taor Nm L1"L2 3~100 2. 5IEMREMEIIE 2.5 imes of norminal output torque
WES AR (norminal input speed)nm = L1L2 3~100 5000 5000 4000 4000 4000 4000 3000 3000 3000 2000
BABAEE(maximum input speed)ns L2 3~100 10000 10000 8000 8000 8000 8000 6000 6000 6000 4000
L1 3~10 =4 =3 =3 =3 =3 =3 =3 =3 =3 =4
. o Lackast T L2 12~100 =6 =5 =5 =5 =5 =5 =5 =5 =5 =6
L1 3~10 =5 =5 =5 =5 =5 =5 =5 =5 =5 =5
LI L2 12~-100 =8 =8 =8 =8 =8 =8 =8 =7 =7 =8
1BSEMIfE torsional stiffness Nm/arcmin L1"L2 3~100 3 7 14 14 25 25 50 145 145 225
BAEEH(Maximum radial force)Farmax N L2 3-100 780 1200 2450 2450 4000 4000 9000 14500 14500 50000
BAsmH(Maxmum axial force)F zamax N L1"L2 3-100 390 1050 2200 2200 4000 4000 8300 7250 7250 25000
L1 3-10 =97 =97 =97 =97 =97 =97 =97 =97 =97 =297
I efficiency %
L2 12~100 =04 =94 =04 =04 =04 =04 =04 =04 =04 =04
T{e5d life time h L1z 3-100 =20000 aH{hour)
IFIRIBME operating temperature © L1z 3~100 -10T~ +80C
JBABR lubrication L1z 3~100 28R Lifetime lubrication
B EE IP degree L1*L2 3~100 IP65
F3751% mounting position L2 3-100 {EfI7518 Al position
I®E noise level dB L1z 3~100 =56 =60 =64 =64 =67 =67 <72 =67 =67 =70
3 0.03 0.16 0.61 0.61 325 3.25 91 28.98 28.98 69.61
4 0.03 0.14 0.48 0.48 274 2.74 7.54 23.67 2367 54.37
5 0.03 0.13 0.47 0.47 27 27 742 23.29 23.29 53.27
6 0.03 0.13 0.45 0.45 262 262 7.25 22.75 2275 51.72
= 7 0.03 0.13 0.45 0.45 262 2.62 7.25 22.48 22.48 50.97
8 0.03 0.13 0.44 0.44 258 7.07 7.07 22,59 2259 50.84
9 0.03 0.13 0.44 0.44 2.57 7.04 7.04 2253 22.53 50.63
tEahi2 B(Moment of Inertia)J1 kg.cm? 10 0.03 0.13 0.44 0.44 257 2.57 7.14 2251 2251 50.56
15 0.03 0.03 0.13 0.13 0.47 0.47 7.03 742 742 23.29
20 0.03 0.03 0.13 0.13 0.47 0.47 an 7.42 742 23.29
25 0.03 0.03 0.13 0.13 047 0.47 27 7.42 742 2329
L2 30 0.03 0.03 0.13 0.13 0.47 0.47 27 742 742 2329
35 0.03 0.03 0.13 0.13 0.47 0.47 27 7.42 742 23.29
40 0.03 0.03 0.13 0.13 0.47 0.47 a1 7.42 742 23.29
50 0.03 0.03 0.13 0.13 0.47 0.47 271 7.03 7.03 2251
60 0.03 0.03 0.13 0.13 0.44 0.44 2.57 7.03 7.03 2251
70 0.03 0.03 0.13 0.13 0.44 0.44 257 7.03 7.03 2251
80 0.03 0.03 0.13 0.13 0.44 0.44 257 7.03 7.03 251
100 0.03 0.03 0.13 0.13 0.44 0.44 2.57 7.03 7.03 2251
25/ F==L= F=EL= 26/




SMEZRTEZ / out line dimension sheet

SMIzR<TE % / out line dimension sheet

(8 ]
- L6 o 18
4 [5
J 13
] —
é % 7 ?—:&Lh — 1T
! —
B1
=
KVB042 KBS0 KVB090 KVB115 KVB140 KVB180 KVB220
50 70 100 130 165 215 250
D2 34 55 65 9 1 13 17
13 16 22 32 40 55 75
35 50 80 110 130 160 180
M4*8 M5*12 M8*16 M12+24 M16*32 M2040 M2040
42 60 90 115 140 180 220
3 3 3 5 5 6 7
14 20 30 10 65 70
19.5 285 355 51 82 82 105
55 7 10 12 136 20 30
L6 % 37 48 65 985 105 138
4 8 10 10 12 15 20
615 68 885 114 1465 164 200
c1 46 70 90 145 200 200 215
M4*B M4*8 M5*10 M8*16 M12+24 M12+24 M12+24
46 60 a0 130 180 180 200
8 14 19 2 35 35 2
30 50 70 110 1143 1143 180
5 6 6 6 8 7 8
c7 275 325 47 625 815 85 109
91.5 113 146.5 189 257 284 358
EN 5 5 6 10 12 16 20
15 18 245 355 43 59 795

N RE H R LU E P ERIK MR,

H2WARTKIES R EIR DA # DIATLIAMED.

271 FELE

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

[1 ] 3
L6 L7 L&
L4 L5 (7
< 713 Lol
I | [ F
e — _/ 1 J o
== — 1 s °
SN
Bl
KVB042 KVB0S0 KVB090 KVB115 KVB140 KVB180 KVB220
50 70 100 130 165 215 250
D2 34 55 65 9 1 13 7
13 16 2 32 40 55 75
35 50 80 110 130 160 180
M4*8 M5*12 M8*16 M12:24 M1632 M2040 M20*40
42 60 90 115 140 180 220
3 3 3 5 5 6 7
14 20 30 40 65 70 90
19.5 285 355 51 82 82 105
55 7 10 12 136 20 )
2 37 48 85 8.5 10 138
4 8 10 10 12 15 20
82 88 1165 151 200 220 249
c1 46 70 90 145 200 200 215
M4*B M4*8 M5*10 M8*16 M12+24 M12+24 M12+24
46 60 a0 130 180 180 200
8 14 19 24 35 35 a2
30 50 70 110 1143 1143 180
5 6 6 6 8 7 8
c7 275 325 47 625 815 85 109
112 133 1745 226 310.5 340 407
EN 5 5 6 10 12 16 20
15 18 245 355 4 59 795

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

28/



SMEZRTEZ / out line dimension sheet

KVB-L1-B

SMIzR<TE % / out line dimension sheet

KVB-L2-B

B4
#03
[ ]

=5 4

=R ]

vl L oo A
Nimla|lE|la|R i

-
[

c3

Q

i Nt |e|N[o|oa|s

6

= @

N RE H R LU E P ERIK MR,

KVB090B

6.5
22

ma*16

35.5
10
48
10

80.5
70

M4*8

39
138.5
6
245

KVB1158

32
110
M12%24

495
176
10
355

KvB140B
165
11
40
130
M16*32
140
5
65
82
135
98.5
12
139
145
M8*16
130
24
110
11
74
2495
12
43

H2WARTKIES R EIR DA # DIATLIAMED.

29/

KVBE180B
215
13.5

55
160
M20*42
180
6
70
82
20
105.5
16
161.5
200
M12*24
180
38
1143
10
83
282
16
59

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

(8

=

o100

Nlo|lo|s|w

[¢]

rlrlelelele]|e]- o A
= L nimlalE|e|R b

(2}
N

oxc

(]

= @|N|o|o| &

I

HERIELE DT LU E PER ARG,

KVB090B
100
6.5
22
80
M8*16
90
3
30
355
10
48
10
108.5
70
M4*8
60
14
50
6
39
166.5
6
245

KVB1158

130
9
32
110

M12%24

115
5
40
51
12

495
213
10
355

KvB140B
165
1
40
130
M16*32
140
5
65
82
135
98.5
12
192.5
145
M8*16
130
24
110
11
74
303
12
43

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

30/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

36 90 90 195 195 550 1100

3 13 1860
4 16 48 120 120 260 260 600 1250 1950
5 15 60 150 150 325 325 590 1200 1900
L 6 11 55 150 150 325 325 450 950 1600
T/ 15 50 140 140 300 300 540 1050 1760
8 1" 45 120 120 260 260 460 960 1550
9 9 40 100 100 230 230 450 900 1500
10 12 40 100 100 230 230 520 1000 1120
@ KV B R - I_ 1 @ KV B R — I_ 2 i 5 (norminal output torque) T2N Nm 15 13 3 ° L 300 30 530 1100 1800
20 16 48 110 110 230 230 530 1150 1800
@ KVBR—L1 —B /i\' KVBR—LZ—B 25 15 60 150 150 325 325 590 1200 1800
=4 = 30 13 55 150 150 310 310 550 1100 1830
35 13 50 140 140 300 300 540 1100 1800
= 40 15 45 100 100 260 260 500 1000 1600
50 15 60 160 160 230 230 580 1200 1670
70 13 50 140 140 300 300 520 1100 1600
80 11 45 120 120 260 260 500 1000 1500
100 10 40 100 100 230 230 450 900 1500
@iFHBE(emergency torque)Taor Nm L2 3~100 2. 5EMEMEEIE 2.5 times of norminal output torque
WE S % (norminal input speed)ns o L1"L2 3~100 3000 5000 4000 4000 4000 4000 2500 2000 2000
BAES R (maximum input speed)nis L2 3~100 6000 10000 8000 8000 8000 8000 4500 4500 4000
L1 310 =8 =7 =7 =7 =7 =7 =8 =8 =8
Sistodim P LIS T 2 12-100 <10 <10 <10 <10 <10 <10 <10 <10 <10
1BERIE torsional stiffness Nm/arcmin L2 3~100 3 7 14 14 25 25 56 140 220
B EmH(Maximum radial force)F amax N L2 3-100 780 1200 2450 2450 4000 4000 9400 14500 50000
Exsami(Maxmum axial force)Faamax N L2 3~100 330 1050 2200 2200 4000 4000 4700 7200 28000
L1 3~10 293 295 295 296 295 295 293 203 293
IR efficiency %
L2 12~100 =90 =92 =02 =92 =92 =92 =90 =90 =90
TS life time h L2 3~100 =20000 /N (hour)
FiRiBME operating temperature T Li*L2 3~100 -10T~ +80T
J@RB lubrication L2 3~100 2533}8 Lifetime lubrication
FHPSE IP degree L2 3~100 IP65
#4758 mounting position Li*L2 3~100 (X758 All position
I noise level dB L1"L2 3~100 =65 =64 =67 =67 =70 =70 =70 =72 =74
3 0.09 0.35 225 225 6.84 6.84 234 68.9 1354
4 0.09 0.35 225 2.256 6.84 6.84 234 68.9 1354
5 0.09 0.35 225 2.25 6.84 6.84 234 68.9 1354
LY 6 0.09 0.35 225 225 6.84 6.84 234 68.9 1354
T/ 0.09 0.35 225 225 6.84 6.84 234 68.9 1354
8 0.09 0.35 225 2.25 6.84 6.84 234 68.9 1354
128 (Moment of Inertia)J1 Kg.cm? 10 0.09 0.35 225 225 6.84 6.84 234 68.9 135.4
10 0.09 0.35 225 2.25 6.84 6.84 234 68.9 1354
15 0.09 0.09 0.35 0.35 225 225 6.84 23.4 68.9
20 0.09 0.09 0.35 0.36 225 2.25 6.84 234 68.9
25 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
30 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
L2 35 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
40 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9
50 0.09 0.09 0.35 0.35 225 22 6.84 234 68.9
70 0.09 0.09 0.35 0.35 225 225 6.84 23.4 68.9
80 0.09 0.09 0.35 0.36 225 225 6.84 234 68.9
100 0.09 0.09 0.35 0.35 225 225 6.84 234 68.9

31/ AR AR 32/



SMEZRTEZ / out line dimension sheet

9 (i
Wi 16
5
T
u |
|
|
_________1____
|
| o
M )
e
RIINE
411
| oC4 |
95
BN KVBRO42 KVBROG0 KVER090 KVBR115 KVBR140 KVBR180 KVBR220
El 50 70 100 130 165 215 250
EN 34 55 65 9 1 13 17
EN 13 16 2 32 40 55 75
EN 35 50 80 110 130 160 180
EN M4'8 M5*12 M8*16 M12+24 M16%32 M20*40 M20%40
El 42 60 90 115 142 180 220
EN 3 3 3 5 5 6 7
EN 14 20 30 40 65 70 90
[ ] 19.5 25 355 51 79 82 105
En 55 7 10 10 15 20 30
Bl 2% a7 48 65 o7 105 138
EN 4 8 10 10 12 15 20
BN 71 715 975 1325 146 184 216
El 122 1465 2005 265 352 394 484
El 46 70 90 145 200 200 235
EN M3'6 M8 M5*10 M8*16 M12+24 M12:24 M12:24
EN 42 60 90 130 142 180 220
EN 8 14 19 2 35 38 55
EN 30 50 70 110 1143 180 215
EN 35 6 6 14 n 15 7
EN 30 325 435 67 81 85 85
EN 89.5 68 97 126 165 2135 268.5
EN 955 98 142 1835 230 3035 378.5
ElN 5 5 6 10 12 16 20
B 15 18 245 355 43 59 795

N RE H R LU E P ERIK MR,

H2WARTKIES R EIR DA # DIATLIAMED.

33/ AN

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

11 9 3
v 18 -
19
&
= — :.:
s Joce |
| LIS -

EN KVBR042 KVBROB0 KVBRO090 KVBR115 KVBR140 KVBR180 KVBR220
EN 50 70 100 130 165 215 250
EN 34 55 65 9 1 13 17
EN 13 16 22 32 40 55 75
En 35 50 80 110 130 160 180
EN 48 M5*12 M8*16 M12+24 M16*32 M20740 M20%40
Bl 42 60 % 15 142 180 220
B 3 3 3 5 5 6 7
EN 14 20 30 40 65 70 90
Bl 195 285 355 51 79 82 108
En 55 7 10 10 15 20 0
En 2 a7 48 65 o7 105 138
EN 4 8 10 10 12 15 20
En 88 915 1255 169.5 173 217 253
EN 139 166.5 2285 302 378 427 521
ElN 46 70 %0 145 200 200 235
EN M3'6 M8 M5*10 M8*16 M12:24 M12:24 M12+24
EN 42 60 %0 130 142 180 220
EN 8 14 19 2 35 38 55
EN 30 50 70 110 1143 180 215
EN 35 6 6 14 14 15 7
EN 30 25 435 67 81 85 85
EN 69.5 68 o7 126 165 2135 268.5
EN 955 98 142 1835 230 3035 3785
ElN 5 5 6 10 12 16 20
El 15 18 245 355 43 59 79.5

HERIELE DT LU E PER ARG,

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.



SMEZRTEZ / out line dimension sheet

KVBR090B

6.5
22

M8*16

355
10

10

80.5
168.5

245

KVBR115B
130
9
32
110
M12*24
115
5
40
51
10
65
10

435
97
142
159.5
10
355

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

35/ AN

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

(8

iR

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

KVBR090B

6.5
22

M8*16

355
10

10

108.5
196.5

24.5

KVBR1158
130
9
32
110
M12+24
115
5
40
51
10
65
10
152
212
90
M5*10
90
19
70
6
435
a7
142
159.5
10
355

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

AR 36/



P aafté8 Product Profile

KSP%3!

(KSP Series)

® KSP-L1
® KSP-L1-B

® KSP-L2
® KSP-L2-B

371/

FIENEEESEHE | gear box preformance information

WS HMIE(norminal output torque)T2N

2ieHB(emergency torque)Taor
E S A F®(norminal input speed)ns
AW (maximum input speed)ns

EHESISEANP1 low backlash

[ElgtR P2 standard backlash

HBsERIE torsional stiffness
BAEmH(Maximum radial force)Famax
kb (Maxmum axial force)F suax

T{FH# efficiency

I life ime

IR operating temperature
J@R5E lubrication

%R IP degree

#447518 mounting position

¥ noise level

iEEpiRM(Moment of Inertia)J1

Nm

pm

arcmin

Nm/arcmin
N
N

%

dB

‘T‘J’H stage level

L1

L2

LiL2

L2

L2
L1
L2
L1

L2
L2
L1tz
L1
L2
L2
L2
L2
L1m2
L1z
L2

L1

L2

3-100
3~100
3~100
3~10
12-100
3~10
12~100
3-100
3~100
3~100
3~10
12~-100
3~100
3~100
3~100
3~100
3~100
3-100

© W N o s W

15

25
30
35
40
50
70

10000
=4
=7
=6
=9

610

=095
=92

=61
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09
0.09

5000
10000
=3
=5
<5
=8

1200
1050
=97
=94

=60
0.16
0.14
0.13
0.13
0.13
0.13
0.13
0.13
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

140 140 290 290 542
160 160 330 330 650
150 150 310 310 600
140 140 300 300 550
120 120 260 260 500
100 100 230 230 450
100 100 230 230 450
130 130 208 208 342
140 140 290 290 542
160 160 330 330 650
150 150 310 310 600
140 140 300 300 550
120 120 230 230 500
160 160 330 330 650
140 140 300 300 550
100 100 230 230 450
2 S{SHETES IE 2.5 times of norminal output torque
4000 4000 4000 4000 3000
8000 8000 8000 8000 6000
=3 =3 =3 =3 =3
=5 =5 =5 =5 =5
<5 =5 =5 <5 =5
=8 =8 =8 =8 =8
14 14 25 25 50
2450 2450 4000 4000 9000
2200 2200 4000 4000 8300
=97 =97 =97 =97 =97
=94 =94 =94 =94 =94
20000 +hd(hour)
-10C~ +90C
£58{E# Lifetime lubrication
P65
{EM7AE Al position

=62 =62 =65 =65 =70
0.61 0.61 3.25 3.25 2.21
0.48 0.48 274 274 7.54
0.47 0.47 iy | 2m 7.42
0.45 0.45 265 2,65 7.25
0.45 0.45 262 262 7.25
0.44 0.44 2.58 258 7.07
0.44 0.44 257 257 7.04
0.44 0.44 257 257 7.14
0.13 0.13 0.47 047 7.03
0.13 0.13 0.47 0.47 27
0.13 0.13 0.47 047 2.7
0.13 0.13 0.47 047 27
0.13 0.13 0.47 0.47 27
0.13 0.13 0.47 0.47 2m
0.13 0.13 0.47 0.47 2.71
0.13 0.13 0.44 0.44 2.57
0.13 0.13 0.44 0.44 257

1050
1200
1100
1100
1000
900

900

588

1050
1200
1100
1100

1200
1100

6000
=3
=5
<5
=8

15000
14200
=96
=93

=68
28.98
2367
23.29
22.75
22.48
2259
2253
2251
7.42
7.42
T7.42
7.42
7.42
7.42
7.03
7.03
7.03

1500

=70

69.61
54.37
53.27
51.72
50.97
50.84
50.63
50.56
23.29
23.29
23.29
23.29
23.29
2329
22.51
2251
2251

38/



SMEZRTEZ / out line dimension sheet

e ] i = 3 ..
19 10
i 18 0
[ ] P 1 1 I
7. 13
5 4
|
i i
T I A
B SRUTRNAN 0 3 =
| L : 1
|
] I—'r4t
.
1
:
5
KSP042 KSPOBO KSPO75 KSP100 KSP140 KSP180 KSP210
EN 50 68 85 120 165 215 250
34 55 66 9 1 135 17
13 16 2 3 40 55 75
35 60 70 %0 130 160 180
M4*8 M5*12 M6*12 M12+24 M16+32 M20°40 M20°40
50 62 76 100 141 182 215
2 / 2 4 5 6 7
16 25 30 50 70 70 90
195 285 36 58 82 82 105
65 10 10 15 18 12 15
4 6 7 10 12 15 17
205 30 385 61 8s / /
L8 6.5 18 175 27 27 / !
Lo 30 54 63 98 124 127 160
60.5 825 106.5 128 17725 244 257
46 70 % 145 200 200 235
M4*8 M5*10 M6*12 M8*16 M12%24 M12+24 M12+24
2 70 % 130 180 180 220
" 14 19 24 35 38 48
30 50 70 110 1143 1143 200
c6 35 3 6 6 10 10 10
2 a7 4 67 80 83 116
86.5 1365 169.5 26 301.25 356 400
EN 5 5 6 10 12 16 20
15 18 245 35 43 59 795

N REA H AT LU B P ERIK/ MR,
H2WARTKIES R EIR DA # DIATLIBAMED.

39/

or stepper motors sizes.

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

SMIzR<TEZ / out line dimension sheet

(8 a3
19 L1
" - - ]
S S e I
. 13
i ] ! : I
|
B N
g g2 == — —H1 § 9
T
|
1 ] I—1‘r 1
B
|
@,\ 1
KSPO42 KSP0BO KSP075 KSP100 KSP140 KSP180 KSP210
EN 50 68 85 120 165 215 250
D2 34 55 66 9 1 135 17
13 16 22 32 40 55 75
35 60 70 %0 130 160 180
Mg M5*12 M6*12 M12:24 M16°32 M20*40 M20%40
50 62 76 100 141 182 215
L2 2 ! 2 4 5 6 7
16 25 30 50 70 70 %0
105 285 36 58 82 82 105
65 10 10 15 18 12 15
4 6 7 10 12 15 17
205 30 385 61 85 / /
L8 65 18 175 27 27 / !
Lo a0 54 63 98 124 127 160
88 102 1315 159 21475 215 240
46 70 90 145 200 3485 400
M4*8 M5*10 M6*12 M8*16 M12°24 M1224 M12+24
2 70 % 130 180 180 220
1 14 19 24 35 38 48
0 70 110 1143 1143 200
c6 35 6 6 6 10 10 10
2 a7 4 67 80 83 116
114 156 1945 257 338.75 356 400
El 5 5 6 10 12 16 20
15 18 245 35 43 59 795

FERELE DT LU E PESA/NIRE.
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

40/



SMEZRTEZ / out line dimension sheet

KSP-L1-B

SMIzR<TEZ / out line dimension sheet

KSP-L2-B

110

{4.
T
o ;J =
o1

X

N
()
R

R KSP0758

6.6

22

70
M6*12

|0
£

] O|o|0|0|0 rlcr|lc|rcir|c|c|r |9 o
0| s |w N 0| |~ || s | w N i w|N ~
o

~
@

L10 94

-
(=1

C6 6

0
|~
- W
o N
N o

=

245

N REA H AT LU B P ERIK/ MR,

KSP100B

106.5

MéE*12

204.5
10
35

KSP140B
165
1
40
130
M16*32
141
5
70
82
18
12
85

299.25

43

H2WARTKIES R EIR DA # DIATLIBAMED.

41/ F=EL=

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

FERELE DT LU E PESA/NIRE.
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

(8 e 3 -
19 10
17 1§ (7
L& 19]6 [ W —I—‘fi
A 13
i || ! Y
A ‘ ! ]
S = R
y |
1 ] L
'l \M

g
KSPO758 KSP100B KSP140B
EN 85 120 165
66 9 11
22 32 40
70 90 130
M6*12 M12724 M16°32
76 100 141
30 50 70
% 58 82
10 15 18
7 10 12

L7 385 61 85
17.5 27 27
63 98 124
119 1375 212.75
70 9% 145
c2 M4*8 M6*12 M8*16

60 90 130
14 19 24
50 70 110
6 6 10
25 47 78
182 2355 336.75
EN 6 10 12
245 35 43

42/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

55 130 130 208 208 342 588

3 9 1140
4 12 50 140 140 290 290 542 1050 1700
5 15 60 160 160 330 330 650 1200 2000
L 6 20 55 150 150 325 325 600 1100 1900
T/ 19 50 140 140 300 300 550 1100 1800
8 17 45 120 120 260 260 500 1000 1600
9 14 40 100 100 230 230 450 900 1500
10 14 40 100 100 230 230 450 900 1500
@ KS P R— I_ 1 @ KS P R— |_2 WUESHE(norminal output torque) T2N Nm 5 i ES i 130 ZiL] L 42 B 40
20 14 50 140 140 290 290 542 1050 1700
= 25 15 60 160 160 330 330 650 1200 2000
@ KSPR_L1 _B C) KSPR_LZ_B 30 20 55 150 150 310 310 600 1100 1800
35 19 50 140 140 300 300 550 1100 1800
= 40 17 45 120 120 230 230 500 1000 1600
50 14 60 160 160 330 330 650 1200 2000
70 19 50 140 140 300 300 550 1100 1800
80 Wi/ 45 120 120 260 260 500 1100 1800
100 14 40 100 100 230 230 450 900 1500
@iFHBE(emergency torque)Taor Nm L2 3~100 2. 5EMEMEEIE 2.5 times of norminal output torque
WE S % (norminal input speed)ns o L1"L2 3~100 5000 5000 4000 4000 4000 4000 3000 3000 2000
BAES R (maximum input speed)nis L2 3~100 10000 10000 8000 8000 8000 8000 6000 6000 4000
L1 310 =6 =7 =7 =7 =7 =7 =5 =5 =5
Sistodim P LIS T 2 12-100 <9 <10 <10 <10 <10 <10 <8 <8 <8
B¥AIE torsional stiffness NmVarcmin L2 3~100 3 7 14 14 25 25 50 145 225
B EmH(Maximum radial force)F amax N Li*L2 3-100 610 1200 2450 2450 4000 4000 9000 15000 20000
Bk smH(Maxmum axial force)Faamax N L2 3~100 320 1050 2200 2200 4000 4000 8300 14200 28000
L1 3~10 295 295 295 296 295 295 297 296 296
IR efficiency %
L2 12-100 =92 =92 =92 =92 =92 =92 =94 =93 =03
TS life time h L2 3~100 =20000 /N (hour)
FiRiBME operating temperature T Li*L2 3~100 -10T~ +80T
J@RB lubrication L2 3~100 2533}8 Lifetime lubrication
RS IP degree L1z 3~100 P65
#4758 mounting position Li*L2 3~100 (X758 All position
I#E noise level dB L1z 3~100 =61 =64 =67 =67 =70 =70 =70 =68 =70
3 0.09 0.35 225 225 6.84 6.84 9.21 28.98 69.61
4 0.09 0.35 225 2.256 6.84 6.84 7.54 23.67 54.37
5 0.09 0.35 225 2.25 6.84 6.84 742 23.29 53.27
LY 6 0.09 0.35 225 225 6.84 6.84 725 22.75 51.72
T/ 0.09 0.35 225 225 6.84 6.84 725 22.48 50.97
8 0.09 0.35 225 2.25 6.84 6.84 7.07 22,59 50.84
t&ihi=M(Moment of Inertia)J1 kg.om? 9 0.09 0.35 225 225 6.84 6.84 7.04 2253 50.63
10 0.09 0.35 225 2.25 6.84 6.84 7.14 2251 50.56
15 0.09 0.09 0.35 0.35 225 225 7.03 742 23.29
20 0.09 0.09 0.35 0.36 225 225 27 742 23.29
25 0.09 0.09 0.35 0.35 225 225 27 7.42 2329
30 0.09 0.09 0.35 0.35 225 225 27 742 23.29
L2 35 0.09 0.09 035 035 225 225 271 742 2329
40 0.09 0.09 0.35 0.35 225 225 27 742 23.29
50 0.09 0.09 0.35 0.35 225 22 e 7.03 2251
70 0.09 0.09 0.35 0.35 225 225 2.57 7.03 22.51
80 0.09 0.09 0.35 0.36 225 225 6.84 234 68.9
100 0.09 0.09 0.35 0.35 225 225 257 7.03 2251

43/ A ==



SMEZRTEZ / out line dimension sheet

o4
2D}

T T
i 1
| 1
— T = i
| I
h |ere |
- 205 -
Bl s KSPRO60 KSPRO75 KSPR100 KSPR140 KSPR180 KSPR210
EN 50 68 85 120 165 215 250
EN 34 55 66 9 1 135 17
EN 13 16 2 32 40 55 7%
EN a5 60 70 1) 130 160 180
EN Ma*B M5*12 M6*12 M12°24 M16°32 M20*40 M20*40
EN 50 62 76 100 141 182 215
EN 2 / 2 4 5 6 7
EN 16 25 30 50 70 70 %0
BN 19.5 285 36 58 82 82 105
EN 65 10 10 15 18 12 15
EN 4 6 7 10 12 15 17
ERN 205 30 385 61 85 / /
EN 6.5 18 17.5 27 27 / /
- 30 54 63 98 124 127 160
[ o0 | 90.5 87 1205 1435 2485 307 374
EN 1115 17 2285 299 3385 397 484
ElN 46 70 90 145 200 200 235
EN M4*B M4*8 M5*10 M8*16 M12+24 M12°24 M12+24
- 42 80 90 130 180 180 220
- 1 14 19 24 38 48 55
- 30 50 70 110 130 180 200
- 35 6 6 14 6 6 6
- 25 32 435 67 60 85 116
EN 69.5 68 97 126 1455 2135 268.5
EN 90.5 o8 142 1835 2355 3035 a78.5
EN 5 5 6 10 12 16 20
- 15 18 245 35 43 59 79.5

N REA H AT LU B P ERIK/ MR,

H2WARTKIES R EIR DA # DIATLIBAMED.

yy = 4

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

SMIzR<TEZ / out line dimension sheet

14 I:
3
T
s g I LN
[T [
T o
?l I — — 1 .5{' 1 1
1 ol |
8(5
EN KSPR042 KSPROGO KSPRO75 KSPR100 KSPR140 KSPR180 KSPR210
EN 50 68 85 120 165 215 250
El 34 55 66 0 1 135 17
EN 13 16 22 a2 40 56 75
EN 35 60 70 %0 130 160 180
EN M4*8 M5*12 MB*12 M12+24 M16+32 M20*40 M20*40
EN 50 62 76 100 141 182 215
En 2 f 2 4 5 6 7
EN 16 25 30 50 70 70 )
BN 195 285 3% 58 82 82 105
En 6.5 10 10 15 18 12 15
En 4 6 7 10 12 15 17
ER 205 30 385 61 85 I /
EN 6.5 18 175 27 27 I /
- 20 54 63 98 124 127 160
BN 118 103.5 1455 1745 2805 344 411
En 139 187.5 2635 330 3705 434 521
EN 46 70 %0 145 200 3485 400
EN 48 M4*8 M5*10 M8*16 M12+24 M12+24 M12+24
EN 42 60 %0 130 180 180 220
- 1 14 19 24 38 48 55
- 30 50 70 110 130 180 200
- 35 6 6 14 6 6 6
- 25 32 435 67 60 85 116
EN 69.5 68 o7 126 1455 2135 268.5
EN 90.5 98 142 1835 2355 303.5 3785
EN 5 5 6 10 12 16 20
- 15 18 245 35 43 59 79.5

FERELE DT LU E PESA/NIRE.
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers.,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

AR 46/




SMEZRTEZ / out line dimension sheet SMIzR<TEZ / out line dimension sheet

L 1 (
10 L1 - (3 -
18 I 19 —— 10 -
_lefel 17 _ I8
L& | L5]6
- 3
— | -
\
T 1 E— ——lfl L] I S I O B
J 8 | S
L] 3 i i =
L = ] T
o | ~
it 1| |
i y =
— o4
. o0 _| e |
Bl <sross KSPR100B Bl <sross KSPR100B
El 85 120 ERN 85 120
EN 66 9 EN 66 9
EN 22 32 EN 2 32
EN 70 % EN 70 %
EN MB*12 M12+24 EN Me*12 M1224
EN 76 100 EN 76 100
[ | 2 . = 2 s
[ | 30 50 EE - 50
El % 58 N % 58
EN 10 15 En 10 15
El 385 61 EN 385 61
EN 175 27 En 175 27
N - " EE - -
BN 1035 126 BN 1285 157
E 196.5 269 El 2215 300
[ - | 70 % I 70 %
EN M4'8 M5*10 EN 48 M5*10
EE - . EE - -
- 14 19 - 14 19
— o E - "
[ | 6 6 N 6 6
ElN 31 435 EN 31 435
- o EE - o
El 98 142 EN o8 142
EE 13 154.5 EB 113 1545
- 245 35 - 245 35
1 REEE DT LU B P ERIKMIKE. Note 1: The reducer output shaft size and length can be customized for customers. FEREYLE DT LU A E PRI/ NMIEE. Note 1: The reducer output shaft size and length can be customized for customers,
H2WAR THIBE R EIIR DIk ik T LIBRERD. Note 2: Input sizes can be subject to changed according to the brand servo motors. 2 AR TIKIRE RIREIR DA E H DIAT LABHRIER. Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes. or stepper motors sizes.

yy = 4 y =



Faité8 Product Profile FABHIEEEHE | gear box preformance information

270 270 560 1050

K I I 'g \ 5‘] 5 22 60 160 160 330 330 700 1200 2000

1700
L1 7 19 50 140 140 300 300 700 1100 1800
. 10 14 40 100 100 230 230 460 900 1500
(KTP Series) e e e
RS HEIE(norminal output torque)T2N Nm
25 22 60 160 160 330 330 700 1200 2000
35 19 50 140 140 300 300 700 1100 1800
L2 40 19 45 130 130 270 270 700 1000 1600
-— — 22 1 1 K 1
® KTP-L1 ® KTP-L2 . 0w o W @ m w o
70 19 50 140 140 300 300 700 1100 1800
@ KTP—I_1 —B /i\' KTP—L2—B 100 14 40 100 100 230 230 460 900 1500
=~ 4 @fmB(emergency torque)Taor Nm L2 2~100 2, SEHEHHE 2.5 times of norminal output torque
WESAHE(norminal input speed)ns o L2 4~100 5000 5000 4000 4000 4000 4000 3000 3000 2000
BABAER(maximum input speed)n,s L2 4~100 10000 10000 8000 8000 8000 8000 6000 6000 4000
L1 4~-100 =3 =3 =3 =3 =3 =3 =3 =3 =3
EHEEHREMP1 low backlash
. L2 20~100 =5 =5 <5 =5 =5 =5 <5 =5 =5
arcmin
L1 4~100 =6 =5 =5 =5 =5 =5 =5 =6 =6
EIfEiF#iaEP2 standard backlash
L2 20~-100 =8 =8 =8 =8 =8 =8 =8 =8 =8
HsERE torsional stiffness Nm/arcmin L1 4~100 8 7 14 14 25 25 50 450 1010
A &EmH(Maximum radial force)Fammax N L2 4-100 43 125 235 235 430 430 1300 3064 5900
ks (Maxmum axial force)F N L1"L2 4~100 990 1050 2200 2200 4000 4000 8300 16660 29430
L1 4~10 =97 =97 =97 =97 =97 =97 =97 =97 =97
T{esi® efficlency %
L2 20~100 =04 =94 =04 =94 =04 =94 =04 =94 =04
I{e%d life time h L1L2 4~100 =20000 \B(hour)
FIEE operating temperature c L1*L2 4~100 -10C~ +90T
JERB lubrication L2 4~100 ST Lifetime lubrication
W% IP degree L1"L2 4~100 P65
£47518 mounting position L2 4~100 {E@E%5E All position
I## noise level dB Lz 4~100 =56 =60 =62 =62 =65 =65 =70 =67 =70
4 0.03 0.14 0.48 0.48 274 2.74 7.54 2367 54.37
5 0.03 0.13 0.47 0.47 2 2.M 7.42 2329 53.27
L1 7 0.03 0.13 0.45 0.45 262 2.62 725 22.48 50.97
10 0.03 0.13 0.44 0.44 257 257 7.14 2251 50.56
e t of Inertia)J1 i 20 0.03 0.03 0.13 0.13 0.47 0.47 a7 7.42 23.29
25 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 2329
35 0.03 0.03 0.13 0.13 0.47 0.47 v | 742 23.29
L2 40 0.03 0.03 0.13 0.13 0.47 0.47 a7 7.42 23.29
50 0.03 0.03 0.13 0.13 0.47 0.47 2m 7.03 2251
70 0.03 0.03 0.13 0.13 0.44 0.44 257 7.03 2251
100 0.03 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51

50/




SMEZRTEZ / out line dimension sheet SMIzR<TE % / out line dimension sheet

KTP-L1 KTP-L2

e (6 - - 0 - (8 €]
1o L T 15 .
2 A A Az Il
- 4 .
N | | |
B iy | I
S]] |l o o = .
=== TN O0T7T 1= SR T o i e e o 1 B
- N !
= = ’—i—
L1 AU
(g tHshiRmFLEETI%EAL )  (Output shaft end face distance optional) (i swmEILETI%ERC )  (Output shaft end face distance optional)

KTPO47 KTPOGO KTP090 KTP110 KTP140 KTP200 KTP255 KTPO47 KTPOGO KTP0S0 KTP110 KTP140 KTP200 KTP255
EN 12 20 315 40 50 80 100 EN 12 20 35 40 50 80 100
20 315 50 63 80 125 140 20 315 50 63 80 125 140
28 40 63 80 100 160 180 28 40 63 80 100 160 180
47 64 90 110 140 200 255 47 64 90 110 140 200 255
67 79 109 135 168 233 280 67 79 109 135 168 233 280
EN 72 86 118 145 179 247 00 EN 72 86 18 145 179 247 300
3 5 6 6 8 10 12 3 5 6 6 8 10 12
EN M3'6 M5*10 M6*12 M6*12 M8*16 M10°20 M16'32 EN M3'6 M5*10 M6*12 M6*12 MB*16 M10°20 M16'32
4 8 12 13 12 16 20 4 8 12 13 12 16 20

L2 3 4 7 7 75 8 12 Lz 3 4 7 7 75 8 12
19.5 235 30 29 38 50 66 195 235 30 29 38 50 86
4 4 7 8 10 12 18 4 4 7 8 10 12 18
465 62 785 109 126 134 171 74 815 1035 140 1635 274 238
46 70 9% 145 200 200 235 46 70 9 145 200 200 235
M4*8 Ma* M5*10 M8*16 M12+24 M12+24 M12+24 M4*8 M4+ Ms*10 M8*16 M12+24 M1224 M12:24
48 70 90 130 180 180 220 48 70 90 130 180 180 220
1 14 19 24 35 35 48 1 14 19 24 35 35 48
30 50 70 110 1143 1143 200 30 50 70 110 1143 1143 200
35 6 6 6 10 10 10 3s 6 6 6 10 10 10
30 a 4 67 80 17 1195 30 37 4 67 80 17 1195
70 89.5 1155 146 174 229 255 cs 97.5 109 140.5 177 2115 336 322

EREEN AT LU B P ESI MR, Note 1: The reducer output shaft size and length can be customized for customers. P RUENL DT LUAE FESIA/NIRE. Note 1: The reducer output shaft size and length can be customized for customers.

H2WAR THIBE R EIIR DIk ik T LIBRERD. Note 2: Input sizes can be subject to changed according to the brand servo motors. 2 WARTIKIRE RIEIR DA E H DiIAT LABHRIER. Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes. or stepper motors sizes.

51/ FELCES =

52/




SMEZRTEZ / out line dimension sheet SMIzR<TE % / out line dimension sheet

KTP-L1-B KTP-L2-B

(8
3 13 4 15
Lz 1
2 -l
H ( 4.
|
I B H—
T
Jddd T e Rt 18 1 = I
a5 e S !
=n [ o 3
1 _ED K j \\__’3‘\-_-"@,
Jdul
NIl
(g tHshiRmFLEETI%EAL )  (Output shaft end face distance optional) (i swmEILETI%ERC )  (Output shaft end face distance optional)

KTP0S0B KTP1108 KTP140B KTPO90B KTP1108 KTP140B
EN 315 40 50 EN 315 40 50
50 63 80 50 63 80
s p o ss " w
%0 110 140 90 110 140
109 135 168 109 135 168
EN 18 145 179 BN 18 145 179
EN M6*12 M6*12 M8*16 ENn M6*12 M6*12 M8*16
12 13 12 12 13 12
7 7 7.5 7 7 75
a0 29 38 20 29 a8
7 8 10 7 8 10
61 875 124 86 1185 1615

c1 70 % 145 70 % 145
M4*8 M6*12 M&*16 M4*s M6*12 MB8*16
60 9 130 60 90 130
14 19 24 14 19 24
50 70 110 c5 50 70 110
6 6 10 6 6 10
325 47 78 c7 325 47 78
08 1245 172 123 155.5 2005

EREEN AT LU B P ESI MR, Note 1: The reducer output shaft size and length can be customized for customers. P RUENL DT LUAE FESIA/NIRE. Note 1: The reducer output shaft size and length can be customized for customers.

H2WAR THIBE R EIIR DIk ik T LIBRERD. Note 2: Input sizes can be subject to changed according to the brand servo motors. 2 WARTIKIRE RIEIR DA E H DiIAT LABHRIER. Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes. or stepper motors sizes.

53/ FELS F

54/




Faité8 Product Profile FABHIEEEHE | gear box preformance information

4 19 50 130 130 270 270 555 1050

1700
5 22 60 160 160 330 330 650 1200 2000
= 7 19 50 140 140 300 300 550 1100 1800
10 14 40 100 100 230 230 450 900 1500
20 18 50 130 130 270 270 555 1050 1700
25 22 60 160 160 330 330 650 1200 2000
= 35 19 50 140 140 300 300 550 1100 1800
40 19 45 130 130 270 270 500 1000 1600
@ KTP R— |_ 1 @ KT P R— |_2 WUESHE(norminal output torque) T2N Nm 0 z 60 160 160 30 0 650 1200 2000
70 19 50 140 140 300 300 550 1100 1800
@ KTPR—L1 _B @I KTPR—I_2—B 100 14 40 100 100 ‘ 230 ! 230 450 900 1500
@F@iE(emergency torque)Taor Nm L1"L2 4~100 2. 5{SiREREAIE 2.5 times of norminal output torque
RESAE(norminal input speed)nw i L2 4~-100 5000 5000 4000 4000 4000 4000 3000 3000 2000
B A S (maximum input speed)n;s L2 4~100 10000 10000 8000 8000 8000 8000 6000 6000 4000
L1 4~100 =6 =7 =7 =7 =7 =7 =6 =6 =6
e b L2 20~100 =8 =10 =10 =10 =10 =10 =8 =8 =8
SR torsional stiffness Nm/arcmin L1"L2 4~100 8 7 14 14 25 25 150 450 1010
BxEmA(Maximum radial force)Famax N |Lik L 4~100 43 125 235 235 430 430 1300 3064 5800
@@ (Maxmum axial force)Faumax N Lz 4~100 990 1050 2200 2200 4000 4000 10590 16660 29430
L1 4-10 =97 =95 =95 =95 =95 =95 =97 =97 =97
TiFa= efficiency %
L2 20~100 =94 =92 =92 =92 =92 =92 =94 =04 =94
THEE life time h L2 4-100 =20000 /\(hour)
RS operating temperature \E L2 4~100 -10CT~ +90C
iBR5 lubrication L1z 4~100 #2888 Lifetime lubrication
WHPS4E IP degree L2 4~100 IP65
F¥ A mounting position L1"L2 4~100 {E75@ All position
W7 noise level dB L1z 4~100 =58 =64 =67 =67 =70 =70 =68 =69 =70
4 0.03 0.14 048 0.48 274 2.74 754 2367 5437
u 5 0.03 0.13 047 047 27 27 7.42 2329 53.27
i 0.03 0.13 0.45 0.45 262 2.62 7.14 22.48 50.97
10 0.03 0.13 044 0.44 257 257 7.03 2251 50.56
#ahfR M (Moment of Inertia)J1 kg.cn? 20 0.03 0.03 0.13 0.13 0.47 0.47 27 7.42 2329
25 0.03 0.03 0.13 0.13 0.47 0.47 2m 742 23.29
L2 35 0.03 0.03 0.13 0.13 0.47 0.47 27 742 23.29
40 0.03 0.03 0.13 0.13 047 0.47 2.7 7.42 2329
50 0.03 0.03 0.13 0.13 0.47 0.47 257 7.03 2251
70 0.03 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
100 0.03 0.03 0.13 0.13 0.44 0.44 257 7.03 2251

y £ A




SMEZRTEZ / out line dimension sheet

b
13 l, L
2
i =
T
B I
= = — *I —
= l =
1
| I R N = 1
u ! ; :
— Tt
I
|9t |
- ¢[5 -

EBl KTPRO47 KTPROGO KTPROS0 KTPR110 KTPR140 KTPR200 KTPR255
EN 12 20 315 40 50 80 100
EN 20 315 50 63 80 125 140
EN 28 40 63 80 100 160 180
EN 47 64 90 110 140 200 225
EN 67 70 109 135 168 233 280
EN 72 86 118 145 179 247 300
EN 3 5 6 6 8 10 12
EN M3'6 M5*10 M6*12 M6*12 M8*16 M10°20 M16+32
El 65 8 12 13 12 25 205
EN 3 4 7 7 6 8 12
- 19.5 235 30 29 38 50 66
BN 4 4 7 8 10 12 18
- 56 66.5 87.5 1245 1325 177 198
EN 107.5 124 169.5 219 2665 3345 32
EN 4% 70 90 145 145 215 235
EN Ma*g Mé*8 M5*10 M8*16 M8*16 M12+24 M12+24
EN 48 60 90 130 130 190 220
EN 11 14 19 24 a2 48 55
EN 30 50 70 110 110 85 116
- 35 6 6 14 8 6 6
EN 8 3 435 67 17 20 24
- 74 68 97 126 167 2135 2685
EN 104 o8 142 1835 2415 316 398.5

N RE H R LU E P ERIK MR,

H2WARTKIES R EIR DA # DIATLIAMED.

57! ARy

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

E]

L1 5
2
407
,Bi
CEEE!
45
=
L

— 1 i
| ]
95
EN KTPRO47 KTPROGO KTPRO90 KTPR110 KTPR140 KTPR200 KTPR255
EN 12 20 315 40 50 80 100
EN 20 s 50 63 80 125 140
EN 28 40 63 80 100 160 180
EN 47 64 90 110 140 200 225
EN 67 79 109 135 168 233 280
EN 72 86 118 145 179 247 300
EN 3 5 6 6 8 10 12
EN M3'6 M5*10 ME*12 M6*12 M8*16 M10°20 M1632
El 65 8 12 13 12 225 305
En 3 4 7 7 6 8 12
- 19.5 235 30 29 38 50 66
BN 4 4 7 8 10 12 18
- 75 83 1125 1555 177 231 250
En 122 140.5 1945 260 300 382 403
EN 16 70 %0 145 145 215 235
EN Ma*g M4*8 M5*10 M8*16 M8*16 M12°24 M12*24
EN a8 60 %0 130 130 190 220
EN 11 14 19 24 32 48 55
EN 30 50 70 110 110 85 116
- 35 6 6 14 8 6 6
ERN 8 31 435 67 17 20 24
- 74 68 a7 126 167 2135 2685
EN 104 98 142 1835 2415 316 398.5

HERIELE DT LU E PER ARG,

Note 1: The reducer output shaft size and length can be customized for customers,

2 AR THIRE RRE R DA H DA LIBRTEDR. Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

AR 58/




SMEZRTEZ / out line dimension sheet SMIzR<TE % / out line dimension sheet

Lo

a7 N
= ) |
SRS |
EEEE H ———
,, | o 5
= | )
- =
!
L !
L1 f L q
[ocal
o5 | o
Bl «rroos KTPR1108 Bl «rrows KTPR1108
El 315 40 ElN 315 40
N - es N - es
N - o . 0
EN %0 110 EN %0 110
El 109 135 EN 109 135
EN 118 145 EN 118 145
N 6 6 N 6 5
EN M6*12 M6*12 EN M6*12 M6*12
El 12 13 El 12 13
. 7 8 | L | 7 8
- 70.5 135 - 95.5 166
EN 137.5 217 EN 1625 248
El 70 % El 70 90
EN Ma*8 M5*10 EN Ma*8 M5*10
=l 60 % EN 60 9%
EN 14 19 EN 14 19
[~ | 50 7 =N 50 7
[ | 6 5 = 6 5
- 31 435 - 31 435
[ | 58 o7 [ | 68 o7
El 08 142 EN 98 142
- 113 154.5 - 113 154.5
1 REEN DT LU B P ERIKMIKE. Note 1: The reducer output shaft size and length can be customized for customers. FEREYLE DT LU A E PRI/ NMIKIE. Note 1: The reducer output shaft size and length can be customized for customers,
H2WAR THIBE R EIIR DIk ik T LIBRERD. Note 2: Input sizes can be subject to changed according to the brand servo motors. 2 WARTIKIRE RIEIR DA E H DiIAT LABHRIER. Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes. or stepper motors sizes.

59/ AR AREEREN 60/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

3
’ \ e 15 42 113 113 223 223 364

42 110 110 188 188 423

¥ 5 14 40 118 118 220 220 423
. 7 13 35 96 96 198 198 358
(KTS SerIeS) 10 12 27 68 68 155 155 293
15 17 40 109 109 185 185 423
20 15 42 116 116 230 230 364
S HEAIE(norminal output torque) T2N Nm » 25 14 40 123 123 228 228 423
O KTS—L1 ® KTS—L2 30 13 40 108 108 212 212 423
35 13 35 100 100 206 206 258
40 12 43 17 117 232 232 264
@ KTS_I— 1 _B @I KTS_L2_B 50 14 40 123 123 228 228 423
70 13 35 100 100 206 206 258
100 12 27 70 70 162 162 293
=fFHE(emergency torque) Tauor Nm L2 3~100 2 S{EEEWEEIE 2.5 times of norminal output torque
E S A% (norminal input speed)n o L1%L2 3~100 3000 4000 3600 3600 3600 4000 2500
Bk (maximum input speed)nis L1*L2 3~100 5000 6000 6000 6000 4800 4800 3600
a L1 3~10 =5 =5 =5 =5 =5 =5 =5
iR EiEMP2 standard backlash B 12-100 = BT o e =3 =B —
A% RE torsional stiffness Nm/arcmin L1"L2 3~100 3 7 14 14 25 25 50
B|AEmEH(Maximum radial force)Fzrmax N L2 3~100 320 1150 1530 1530 3470 3470 6520
BAsEH(Maxmum axial force)F zamax N L2 3~-100 160 575 765 765 1735 1735 3260
L1 3~10 =97 =97 =97 =97 =97 =297 =297
TFa# efficiency I L2 12~100 =04 =94 =94 =04 =04 =94 =94
Iie5d life time h L2 3-100 =20000 JH(hour)
WiRBE operating temperature < L1"L2 3~100 -10CT~ +90C
JERE lubrication L1"L2 3~100 2808 Lifelime lubrication
BG4 IP degree L2 3-100 IP65
F#751 mounting position L2 3-100 {EM751 Al position
% noise level dB L1.2 3~100 =62 =60 =64 =64 =67 =67 =68
3 0.16 0.16 0.61 061 325 325 36.72
4 0.16 0.14 0.48 0.48 2.74 2.74 3463
L1 5 0.16 0.13 0.47 0.47 27 2mM 34.24
T 0.16 0.13 0.45 0.45 262 2.62 34.07
10 0.16 0.13 0.44 0.44 257 257 34.02
15 0.16 0.03 0.13 0.13 0.47 0.47 34.02
ssaht= B (Moment of Inertia)J1 Kg.om? 20 0.16 0.03 0.13 0.13 0.47 0.47 34.02
25 0.16 0.03 0.13 0.13 0.47 0.47 34.02
30 0.16 0.03 0.13 0.13 0.47 0.47 34.02
35 0.16 0.03 0.13 0.13 0.47 0.47 34,02
= s 016 003 013 018 047 047 3402
50 0.16 0.03 0.13 0.13 0.47 0.47 34.02
70 0.16 0.03 0.13 0.13 0.44 0.44 34.02
100 0.16 0.03 0.13 0.13 0.44 0.44 34.02

61/ F 62/




SMEZRTEZ / out line dimension sheet SMIzR<TE % / out line dimension sheet

1 (8 L 3 ~ = 11 — s (8 - & -
L7 —ta ] 17 i L6 a
o — 4o 1 0 7
o gdis _ 0] 5 ~ TN v
13 [f < -3 NER
F— - ] = A
= o e B DN L al =
é An e Y _ .; S = ) @' -
= Ic %
p
KTS040 KTS060 KTS090 KTS120 KTS160 KTS040 KTS060 KTS080 KTS120 KTS160
EN 48 70 105 140 185 EN 48 70 105 140 185
34 55 65 9 1 34 55 65 9 1
12 14 20 25 40 12 14 20 2 40
% 50 80 110 130 2% 50 80 110 130
Ma*B M5*12 M6*12 M12#24 M16*32 Ma*B M5*12 M6*12 M12°24 M16+32
L1 45 60 90 120 175 L1 45 60 9% 120 175
L2 2 3 3 8 8 L2 2 3 3 8 8
L3 14 15 30 30 65 L3 14 15 30 30 65
18 235 395 495 80 18 235 395 495 80
4 8 10 10 16 4 8 10 10 16
25 28 5 51 87 IEN 25 28 5 51 87
655 80 10 149 205 825 100 133 178 208
8 70 % 145 200 48 70 % 145 200
M4'8 M4*8 M5*10 M8*16 M12%24 M4'8 M4*8 M5*10 M8*16 M12*24
50 60 90 130 176 50 60 90 130 176
8 14 19 24 35 8 14 19 24 35
30 50 70 110 1143 30 50 70 110 1143
5 6 s 6 7 5 6 6 6 7
32 325 445 88 86 32 325 445 88 86
c8 88 108 150 200 292 cs 105 128 178 234 295
135 % 225 28 43 135 16 225 28 43

N RE H R LU E P ERIK MR,

H2WARTKIES R EIR DA # DIATLIAMED.

63/

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

HERIELE DT LU E PER ARG,

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.




SMEZRTEZ / out line dimension sheet

KTS-L1-B

213

(g

=

®D4
#03,

—
I

I
i

65/

asone
.
p
M6*12
o
;
L3 a0
[ L4 | 395
;
o
.
o
o
c2 M4*8
o
"
o
:
.
o -
25

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

KTS120B
140
9
25
110
M12+24

ME*12

or stepper motors sizes.

Note 1: The reducer output shaft size and length can be customized for customers
Note 2: Input sizes can be subject to changed according to the brand servo motors

SMIzR<TE % / out line dimension sheet

KTS-L2-B

8

33

#04
903,

ot

A
1

KTS0908 KTS120B
105 140
6.5 )

20 25
110
M12%24

rlole
o | &
5
828
~
o

3

HHHIIIII : HIIIIIIIIIIHHHI
- L ¢ N =N | &N = w|N o
o @
~ = 2
N 2]
dg3szes
- S
a = o
8 8% = © =

8
3
8

C4 14 19

[}
W
8
-~
o

o
3
o
N
ey
S

225 28

HERIELE DT LU E PER ARG,

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

66/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

110 110 188 188

3 42
4 42 113 113 223 223
5 40 118 118 220 220
L 7 35 % % 198 198
10 27 68 68 155 155
15 40 109 109 185 185
WESLHE(norminal output torque) T2N Nm B 5 e e ER =0
25 40 123 123 228 228
® KTSR-L1 ® KTSR-L2 :  ® e m w om o om
35 35 100 100 206 206
40 43 117 17 232 232
@ KTS R_L1 _B @' KTSR_I_2_B 50 40 123 123 228 228
70 35 100 100 206 206
100 27 70 70 162 162
=fFHE(emergency torque) Tauor Nm L1z 3~100 2.5{ERATENILAIE 2.5 times of norminal output torque
ME S A% (norminal input speed)n . L1%L2 3~100 4000 3600 3600 3600 4000
AR (maximum input speed)nie L1"L2 3~100 6000 6000 6000 4800 4800
= L1 3~10 =8 =8 =8 =8 =8
Bl iriiaP2 standard backlash B P b ~iF: =5 s =5
1BEMIfE torsional stiffness Nm/arcmin L1 3~100 7 14 14 25 25
B|AEmEH(Maximum radial force)Famux N L2 3~100 1150 1530 1530 3470 3470
BXAED(Maxmum axial force)Fzamax N L2 3~100 575 765 765 1735 1735
o efficlency ~ L1 3~10 =05 =95 =05 =95 =95
L2 12-100 =92 =292 292 =292 =92
Iie5 life time h L2 3~100 =20000 )\ {(hour)
FIREME operating temperature ic L1"L2 3~100 -10C~ +90C
JABR lubrication L1"L2 3~100 #£8T# Lifetime lubrication
PSR IP degree L12 3~-100 IPES
¥ 7%5® mounting position L1"L2 3-100 {EfI75@ All position
I## noise level dB L2 3~100 =66 =68 =68 =72 =72
3 0.16 0.61 0.61 325 325
4 0.14 0.48 0.48 2.74 274
5 0.13 0.47 0.47 27 27
ot 7 0.13 0.45 0.45 262 262
f6Eht 8 (Moment of Inertia)J1 . 10 0.13 0.44 044 257 257
15 0.03 0.13 0.13 0.47 0.47
20 0.03 0.13 0.13 0.47 0.47
25 0.03 0.13 0.13 0.47 0.47
L2 30 0.03 0.13 0.13 0.47 0.47
35 0.03 0.13 0.13 0.47 0.47
40 0.03 0.13 0.13 0.47 0.47
50 0.03 0.13 0.13 0.47 0.47
70 0.03 0.13 0.13 0.44 0.44
100 0.03 0.13 0.13 0.44 0.44

AR 68/



SMEZRTEZ / out line dimension sheet

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

69/ AR

9 0
1 18
L4 ..Ellﬁ...
< 3
T
|
I |
:.g’ g; H =3 iii,fiiiijiii
| -
" =
o — 11 i
®) I
_“‘LUL
805
Bl s KTSR090 KTSR120
EN 70 105 140
EN 55 65 9
EN 14 20 25
EN 50 80 110
EN M5*12 M6*12 M12°24
Bl 60 9% 120
el 3 3 8
EN 15 a0 30
- 235 39 49.5
. 3 5 5
EN 8 10 10
EN 28 45 51
EN 835 114 1495
- 141.5 204 263
El 70 90 145
EN M4°8 M5*10 M8*16
EN 60 % 130
EN 14 19 22
EN 50 70 110
EN 6 6 14
EN 3t 435 67
El 68 97 126
EN o8 142 1835
B 16 25 28

Note 1: The reducer output shaft size and length can be customized for customers.

or stepper motors sizes.

Note 2: Input sizes can be subject to changed according to the brand servo motors

SMIzR<TE % / out line dimension sheet

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

|7 B
S TR
< Y =
I Im \
\
\
= ;{ 3 T - I
\
| ||
| o |
ol Len T
—
B | ||
Pl é} |
< e |
§ o«
Bl s KTSR090 KTSR120
EN 70 105 140
EN 55 65 9
EN 14 20 25
EN 50 80 110
EN M5*12 M6*12 M12+24
Bl 60 9% 120
[ | 3 3 8
EN 15 a0 30
- 235 39 49.5
[ 3 5 5
EN 8 10 10
EN 28 45 51
EN 1035 142 1735
- 161.5 232 297
En 70 9% 145
EN M4°8 M5*10 M8*16
EN 60 9% 130
EN 14 19 22
EN 50 70 110
EN 6 6 14
EN 3t 435 &7
EN 68 97 126
EN a8 142 1835
B 16 25 28

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

AR 70/



SMEZRTEZ / out line dimension sheet

I - r ——[
| o
1
e I |
]
. ul
L e |

KTSR090B KTSR1208
105 140
6.5 9
20 25
80 110

M6*12 Mi2:24

©
=~
=
3

25 28

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

71/ A

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

P04
$0
|
]

=

19
11 1§ -
r L& -r'-[b
A7, 13
|
|
I I e
| o
| b
- | =
T
T -
| | -
1 .‘é I
! I
[
o[

KTSR020B KTSR1208
105 140
65 9
20 2%

80 110
M6*12 M12°24

M4*8 M5*10

N
&
=
£

225 28

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

AN 72/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

3 17 42 110 188 188 423

K I N 'g\alj 4 15 42 113 113 223 223 364

110
¥ 5 14 40 118 118 220 220 423
" 7 13 35 96 96 198 198 358
(KTN SerIeS) 10 12 27 68 68 155 155 293
15 17 40 109 109 185 185 423
20 15 42 116 116 230 230 364
S HEAIE(norminal output torque) T2N Nm » 25 14 40 123 123 228 228 423
@ KTN_L‘I @ KTN_L2 30 13 40 108 108 212 212 423
35 13 35 100 100 206 206 358
40 12 43 17 117 232 232 364
@ KTN_L1 _B @' KTN_LZ_B 50 14 40 123 123 228 228 423
70 13 35 100 100 206 206 358
100 12 27 70 70 162 162 293
=fFHE(emergency torque) Tauor Nm Li*L2 3~100 2 S{EEEWEEIE 2.5 times of norminal output torque
E S A% (norminal input speed)n o L1%L2 3~100 3000 4000 3600 3600 3600 4000 2500
Bk (maximum input speed)nis L1*L2 3~100 6000 6000 6000 6000 4800 4800 3600
o L1 3~10 =5 =5 =5 =5 =5 =5 =5
iR EiEMP2 standard backlash B 12-100 = BT o e =3 =B —
1BSEMIfE torsional stiffness Nm/arcmin L2 3-100 3 7 14 14 25 25 50
B|AEmEH(Maximum radial force)Fzrmax N L2 3~100 320 1030 1570 1570 3590 3590 6520
BAsEH(Maxmum axial force)F zamax N L2 3~-100 160 515 785 785 1795 1795 3260
L1 3~10 =97 =97 =297 =97 =97 =297 =297
Skl b * L2 12~100 =94 294 =94 =294 =94 294 =94
TiE5 life time h L2 3~100 =20000 JH(hour)
WiRBE operating temperature < L1"L2 3~100 -10CT~ +90C
JERE lubrication L1"L2 3~100 2808 Lifelime lubrication
BG4 IP degree L2 3-100 IP65
F#%1™ mounting position L2 3~100 {EfI7518 All position
Wi# noise level d8 L2 3-100 <62 =60 =64 =64 <67 <67 =68
3 0.16 0.16 0.61 061 325 325 36.72
4 0.16 0.14 0.48 048 274 274 3463
L1 5 0.16 0.13 047 0.47 27 27 34.24
T 0.16 0.13 0.45 0.45 262 2.62 34.07
10 0.16 0.13 0.44 0.44 257 257 34.02
15 0.16 0.03 0.13 0.13 047 0.47 34.02
sahi=m(Moment of Inertia)J1 kg.cm? 20 0.16 0.03 0.13 0.13 0.47 0.47 34.02
25 0.16 0.03 0.13 0.13 0.47 0.47 34.02
30 0.16 0.03 0.13 013 047 0.47 34.02
35 0.16 0.03 0.13 0.13 0.47 0.47 34,02
L 40 016 003 013 018 047 047 3402
50 0.16 0.03 0.13 0.13 047 0.47 34.02
70 0.16 0.03 0.13 013 0.44 0.44 34.02
100 0.16 0.03 0.13 0.13 0.44 0.44 34.02

73/ F 74/




SMEZRTEZ / out line dimension sheet

SMIzR<TE % / out line dimension sheet

(8 3
_'J 5 L6 -
L L Y
1 1 12 9 4.
|
I -
2 o == 2 == - d ¢
|
|
|
I_V_
B B
I
= E!
@z )
KTNO40 KTNOSO KTNOSO KTN120 KTN160 KTNO40 KTNOBO KTNOSO KTN120 KTN160
En N 82 70 100 145 En 3 82 70 100 145
D2 M4*8 M5*10 M6*12 M10°20 M12+24 D2 M4*8 M5*10 M6*12 M10°20 M12+24
12 14 20 25 40 12 14 20 2 40
2% 40 60 80 130 2 40 60 80 130
M4*8 M5*12 M6*12 M12¢24 M16+32 M4*8 Ms*12 Me*12 M12:24 M16+32
2 3 3 8 8 2 3 3 8 8
14 15 30 30 65 L2 14 15 30 30 65
2 35 3 4 5 2 35 3 4 5
18 235 39 495 80 18 235 39 495 80
% 28 43 55 87 2 28 43 55 87
62 80 107 145 195 785 100 135 179 2445
46 70 9 145 200 46 70 9 145 200
M4'8 M4*8 M5*10 M8*16 M12+24 M4'8 M4*8 M5*10 M8*16 M12+24
c3 50 60 9 130 176 50 60 % 130 176
8 14 19 24 35 8 14 19 24 35
30 50 70 110 1143 30 50 70 110 1143
4 6 6 6 7 4 6 6 6 7
% 325 445 68 8 2% 325 445 68 8
cs 88 108 150 200 282 104.5 128 178 234 3315
EN 4 4 6 8 12 EN 4 4 6 8 12
135 % 225 28 43 135 16 225 28 43

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

Note 1: The reducer output shaft size and length can be customized for customers
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

75/ FEL= =

76/



SMEZRTEZ / out line dimension sheet

KTN-L1-B

(8

L4

2 _ 13

$D4
ﬁm

§

KTNO90B KTN1208
ElN 70 100
M6*12 M10*20
> =
o o
M6*12 M12+24
: ;
° ao
; 4
39 495
o "
% 125
o o

c2 M4*8 M6*12
o o
14 19
o »
6 8
39 47

c8 142 180
El 6 8
25 28

N RE H R LU E P ERIK MR,
H2WARTKIES R EIR DA # DIATLIAMED.

77/ FEL=

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMIzR<TE % / out line dimension sheet

KTN-L2-B

(1

A
1

KTNOS0B KTN120B
70 100
M6*12 M10*20
20 25

80
M6*12 M12%24
3 8
30 30
3 4
39 495

0|00
2

(9]
~
o
8

ololo
8 = 8
3 @ 8

C6 6 8

olo
8
&
~

170 214

-

¢ 0lo =l Il il Dl E el o

6 [~ ale|lw|(R|(d|lo|ja|lsalw|n|= &Rl R b
o
o

225 28

HERIELE DT LU E PER ARG,
H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

78/



Faité8 Product Profile FABHIEEEHE | gear box preformance information

110 110 188 188

3 42
4 42 113 113 223 223
5 40 118 118 220 220
L 7 35 % % 198 198
10 27 68 68 155 155
15 40 109 109 185 185
WESLHE(norminal output torque) T2N Nm B 5 e e ER =0
25 40 123 123 228 228
® KTNR-L1 ® KTNR-L2 :  ® e m w om o om
35 35 100 100 206 206
40 43 17 117 232 232
® KTNR-L1-B ® KTNR-L2-B I G BN N N
70 35 100 100 206 206
100 27 70 70 162 162
=fFHE(emergency torque) Tauor Nm L1z 3~100 2.5{ERATENILAIE 2.5 times of norminal output torque
ME S A% (norminal input speed)n . L1%L2 3~100 4000 3600 3600 3600 4000
AR (maximum input speed)nie L1"L2 3~100 6000 6000 6000 4800 4800
= L1 3~10 =8 =8 =8 =8 =8
Bl iriiaP2 standard backlash B P b ~iF: =5 s =5
1H%4AI1E torsional stiffness Nm/arcmin L1 3~100 7 14 14 25 25
B|AEmEH(Maximum radial force)Famux N L2 3~100 1030 1570 1570 3590 3590
BXAED(Maxmum axial force)Fzamax N L2 3~100 515 785 785 1795 1795
o efficlency ~ L1 3~10 =95 =95 =05 =95 =95
L2 12~100 292 292 =92 =02 292
Iie5 life time h L2 3~100 =20000 )\ {(hour)
FIREME operating temperature ic L1"L2 3~100 -10C~ +90C
JABR lubrication L1z 3~100 #£8T# Lifetime lubrication
PSR IP degree L12 3~-100 IPES
¥ 7%5® mounting position L1"L2 3-100 {EfI75@ All position
I## noise level dB L1.2 3~100 =66 =68 =68 =72 =72
3 0.16 0.61 0.61 325 325
4 0.14 0.48 0.48 2.74 2.74
5 0.13 0.47 0.47 27 27
ot 7 0.13 0.45 0.45 262 262
sibiEm(Moment of Inertia)J1 oy 10 0.13 0.44 0.44 257 257
15 0.03 0.13 0.13 0.47 0.47
20 0.03 0.13 0.13 0.47 0.47
25 0.03 0.13 0.13 0.47 0.47
L2 30 0.03 0.13 0.13 0.47 0.47
35 0.03 0.13 0.13 0.47 0.47
40 0.03 0.13 0.13 0.47 0.47
50 0.03 0.13 0.13 0.47 0.47
70 0.03 0.13 0.13 0.44 0.44
100 0.03 0.13 0.13 0.44 0.44

AR 80/




SMEZRTEZ / out line dimension sheet

N RE H R LU E P ERIK MR,

H2WARTKIES R EIR DA # DIATLIAMED.

81/ A

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

11 90
15 ) L6
L4
1L 12 13
T
\
| o
mm 7
—
R
ﬂl f
iy
o[
Bl <« KTNROS0 KTNR120
ElN 52 70 100
EN M5*10 M6*12 M10°20
EN 14 20 25
[ | “0 60 80
EN M5*12 Me*12 M12+24
EN 15 30 30
- 3.5 3 4
[ ] 235 39 495
EN 2 4 85
EN 835 116 1505
=l 1415 204 263
El 70 % 145
EN M8 M5*10 M8*16
EN 60 % 130
EN 14 19 2
EN 50 70 110
EN 6 6 14
- 325 435 67
En 68 o7 126
EN 98 142 183.5
[ | 4 6 8
| ] 16 25 28

SMIzR<TE % / out line dimension sheet

&

I}

9

85

S

Bl <o KTNROSO
EN 52 70
EN M5*10 M6*12
- .
[ | “0 60
EN M5*12 Me*12
N :
I o
BN 35 3
BN 235 39
EN 2 4
EN 1035 144
Bl 1615 232
El - %0
EN M8 M5*10
[ | 60 %
EN 14 19
[ | 50 7
[ | 6 6
- 325 435
[ | 8 o7
EN 98 142
[ | 4 6
Bl 16 25

HERIELE DT LU E PER ARG,

KTNR120

M10*20
25

M12*24

30

49.5

184.5
297

M8*16

130

24
110

183.5

28

H2MARTIKIES R ER DA LS H DIATLABIED.

Note 1: The reducer output shaft size and length can be customized for customers,
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

AN 82/




SMEZRTEZ / out line dimension sheet SMIzR<TE % / out line dimension sheet

17 17 a3
15 L6 15 _
1t _
|

| | l

| - 1 e

| I | 1

I = ] =
i |
. ) s :
: ! I{ . ! = |
! |
- |8C4] [904]
§
Lo | oc
Bl <rocos KTNR1208 Il  «vros KTNR1208
EN 70 100 EN 70 100
EN M6*12 M1020 EN M6*12 M10*20
N 20 2 | 20 2
[ | & &0 Bl 60 8
El M6*12 M12+24 EN Me*12 M12-24
I 3 8 I 3 8
N % 30 B % %0
N 3 4 = 3 s
BN 39 495 En 39 495
Il a 85 N 3 55
IEl 9 161 EN 127 195
El 172 261 I ZLY 235
- 0 EE o
- M43 M5*10 - M43 M5*10
= 60 % EN 60 %0
EN 14 19 EN 14 19
EN 50 70 [ cs | 50 70
[ | 6 6 =N 6 6
- 31 435 - 31 435
- 68 o7 - 68 97
- o8 142 - 98 142
EN 113 1505 ENn 113 1595
N 6 8 Bl 6 8
[ ] 25 28 EN 25 28
1 REEN DT LU B P ERIKMIKE. Note 1: The reducer output shaft size and length can be customized for customers. FEREYLE DT LU A E PRI/ NMIKIE. Note 1: The reducer output shaft size and length can be customized for customers,
H2WAR THIBE R EIIR DIk ik T LIBRERD. Note 2: Input sizes can be subject to changed according to the brand servo motors. 2 WARTIKIRE RIEIR DA E H DiIAT LABHRIER. Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes. or stepper motors sizes.

83/ A AREEEENY 84/



0N (e 3% FE iRk 2 1

How To Choose A Reducer

85/

R R amiz shiE R
Tu|
; ; # T
v ; - 20 . | |5
F W B 8 Tap ————— 1
= & Taq
s I} 51 .
al A ol
MMiEre - ED<60% BREH B Fanr Pl
/\1:“”‘<7‘minf’ § Pores Foue -
S (Bq. 1) ‘ 4 P T S . —
g 8 axp ¥
L o, ) H  Fygs Fod |
| HBORGEELD (Bq.2) | | HMEEE (Eq.2) | #®
= 1 L l . " Nge |
595 A i PR -0 4E 1 5U5E FA 3 BRI - Ea 058 £ 5.y
Tou (Ea. 3) Tsa(Ea. 3) -4 Ry Y -
— = —= ked | J
1 N ‘ -
3R A 6 B A i L 48 k - d
Towa: (Eq. 4) E
I = = 7
. 1 Mo /{ ET\za //" e I
2max’ Z T q
R - < Ot > BRRARBR || o et g iy,
! ) S o g L J erele
"ﬂ;:s TFHRiRAE: ainill, c&iE,
HNEAMAR TSR | YES . g
AT R 0, (2. 5) s
2.i4
" gork
ey e BIABH I
EAMADERE]) N0 o, FRREE iR
e P Ea.2)
Mg
YES 3. Tou= ) B2a X taX Tog +ma, X te X Tag tmpy X 1y X Tp?
- ! < g Rgy X tatng Xtctngg X g
B TR 2 T8 E
&@ fF,., MEHF,,, (Ea.6)
% i . 4 Ty TasX i XkeX 0
WHEENSHY LR T8
{ B8N, 0 B VR J T e =l
. Ks SREH
. 1.0 0~~1, 000
T, N0 [ e s 1.1 1,000~1, 500
Tz Taag - J 13 1, 500~2, 000
4 16 2, 000~3, 000
! ; 1.8 3, 000~5, 000
| aEFRmRERGHEL | e —
| n EHERNE (Eq. 4)
{ RIER |
5. “2.—11:&-% X,
_ Doy X tatmp, K tetmgg X t
o™ tattetty =
- s = (Eq. 5)
S5EMAIEEE > # LB i -
—fRfERiRRARA U TAR:
':Jz"‘;“ XJu 6. P3| 220 X ta X Fory ™1 X t6 X Faee” g X 4 XFoe®
BESHEAMBARSUTLR 4 Tigy X tatny X fetng Xty
|
JILAafRE 1. Fg..=q- o0 X ta X Fana #1136 X te X Fiae™ 1y X £ X P
Jn BiERE V figg X tatmye X tetn, Xty
(Eq. 6)
F=EL=

b0 {eJ i FH i i 4

How To Choose A Reducer

AR H iz BiFEE A R E S

REDUCER OUTPUT SHAFT OF THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE

i b IR HBTERZZ EXEE N RME S, R

AR MR Z iR, BENLRAXRTAHR R B
o AEREANETT, HAERZTEXAEE KRG R,
Fz: i h

BFEBEAF LN ] BhFHhd R
1060, 000 . . P —
60, 000 e 1 o i 2995 I AT it 4 T S o
40,000 1 M S A oA B B X=1/2xLHT,
i F— - 7 /
20,000 T O AR 2 LA
1¢, 000 O O 1 o Y I A P4 Hh e o 5 R P
I e e M 1 | B #5420, 000hr*HT,
6,000 S e e e e eV : hr
L% e S i o S A Wi R 2 ARV 7
2,000 [ — - 1] 1 """// ZB090/ZERO90A Foups WE A B, 1ifE
1,000 . T 1| { 28060/ ZER0GOA FREZL ATV FIF
1 T al.., T ./ BRO6O 5|
[+ =1L /" 1BUAZ/ZBROA2 Fon1g=0. 2 X Forg
300 | . LI R i & F2ﬂ=0. d XFer
10 20 40 60 100 200 400 €00 1000 2000
B/ EN, [rpm ]
&R REK,
LS T EEEEE 543 ) F1 361 B
U3k ; 7B042/73R042 ol B, BERE
1.2 [LLT T[] sos0/zza0em AT HLED X<1/2xL,FF
11l I 7B090/73R090A ARHBREREANE
1.0 i o TR K, BIEERED
0.9 — { { 7B142/73R142 Ko1/2xL0F, FidE% %
oy FEF 11 zsiso/zsriso i 8 ¥ 12 @ 7] W 2o
01 | P smes0/zsreno SREHE, FAEYR
03 1/ ' 18 B 2 15 M £ X,
0.4 ot 2% e S i o 7 O 2 1 i B 97 R K,
0.3 0l O£~ = 0 BRATAAR, R
0 40 80 120 160 200 240 280 320 360 400 BirEmH .
FEEARALLEX [mm ] F y2,5=Kb X Forp
Hhire .
F’Zalﬂio' ZXF’ 2rB
= — Fyza15=0- 2XF, g
‘EECHBRREEREFGZSZ—- - s

86/



SERETEHE

Motor Installation Diagram

87/

WILDASRENNE, HFBDIAR
ARz R R T,

3

a. BT LREZ#,
b, MELE, FRETFHR,

WEESIEE DY, ®I)SEHRER,
HESIZRE L EIERT.

WADAHORY, HEELE, £L
BHE,

EANDE, DL HRENANDE
Z5%, E1-4iF, BEFESHL,

i

LR (%— ) R ZAAE,
H1-2NiF, R HEERGLHE,

WOEESHENETRE, BREC
BUZHNE, MHNEFEHE.

8

i E] 124

5ik

Motor Installation Diagram

= — -

XERNE

52|
=]

DR BB N EIWR

ANk BE88MRZ RE1098 4 EBE1291z

@R~ R~ ZHEAS ZHERHL  ZHEHAD

(mm)  (Nm) (In=bs) ( Nm) (in-los) ( Nm ) (in-lbs)

M3%0. 5P 2.5 L& 18 1.8 16 2.1 19

M4x0. 7P 3 3 27 4.1 37 49 44

M5%Q. 8P 4 6.1 55 82 73 9.8 87

M6%1P 5 11 98 4 T8 T 151

MS%1. 25P 6 25 222 34 302 41 364

M10%1. 5P 8 49 434 67 594 80 709

M12%1. 75P 10 85 753 116 1028 139 1232

M14%2P 12 137 1214 186 1648 223 1976

M16%2P 14 210 1860 286 2534 343 3038
ik R BRI S IR

—— Dk B RS RELRS  DiAHER

( mm) (mm ) (mm) (NmM) (in-ibs)

- By <19 M5%0. 8Px11L 4 9.8 87

WP <14 M4*0. TP*12L 3 4.9 44

e By <32 Mex1P*16L 5 17 151

MH <19 MH*0. 8P*14L 4 9.8 87

F=EL=

88/



89/

iTHIMIEEE(SH)
[B/\BHizF EHAE < 1000)
REIEFEIBEE< 60%B< 2095

1. HEFA:
T zxgxwmeme X EuEk < T siEinasie

2.BERIJHA:

1. 2XHMEZ(CI)
2.BIXANNEISOEERZ(CD)
3. ZXHKE(C4)

4. ZHEANSISOERE(CE)
SANZERBLATERER(C)
6. ATERIRZ FLAIR(C2)

ELEMIEEE(S1)
REIZFEEE =60% 3z = 2004

1. JHFEM@IA:

T ouxsmegime X1 gt < T O siEnEses Lime

2 FEIRHFIA:

N ZpgmizatgE < N RENATeAEE

3. BEERTHIA:

1.SIAMER(C4)

2. AN IEMEERE(CH)
3. Dk E(CT)

4. 5K A DS |ISELSERE(CE)
S NEER2 A BEEBR(C1)
6. ADIEIERE 22 7L AR (C2)

MERRARENERTE, FaaEEIE.

Quick Selection Method

Periodic Duty(S5)

Per Hour Continucus OperationPeriod = (10000)

Load OperationPeriod < 60%and < 20 Minutes

1. Torque Confirmation :

T Motor Max. Qutput Torque X i Ratio < T Geabox Emersency Stop Toraue

2. Technical Specification Confimation :

1.Motor Shaft Diameter

2.Motor Pllot Diameter

3.Length of Motor Shaft

4 .Motor Pilot Depth

5.P.C.D (Pitch Circle Diarmneter)
6.Bolt Hole Diameter

Continuous Duty (S1)

Load Operation Period = 60% or = 20 Minutes

1. Torgue Confirmation :

T Motor Nominal Outout Torque X1 Ratio < T G earbox Nominal Input Torque

2.Revolutions Per Minute (RPM) Confirmation:

N Motor Nominal Output Speed = N Gearbox Nominal Input Speed

3. Technical Specification Confimation :

1.Motor Shaft Diameter(C4)

2.Motor Pllot Diameter(C5)

3.Length of Motor Shaft(C7)

4.Motor Pilot Depth(C6)

5.P.C.D (Pitch Circle Diarmneter)(C1)
6.Bolt Hole Diameter(C2)

Please contact us for further assistance.

90/



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48

